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Important Instructions :
1. The Answer Sheet is inside this Test Booklet. When you

are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars on Side-1 and
Side-2 carefully with blue/black ball point pen only.

. The test is of 3 hours duration and Test Booklet

contains 180 questions. Each question carries 4 marks.
For each correct response, the candidate will get
4 marks. For each incorrect response, one mark will be
deducted from the total scores. The maximum marks are
720.

. Use Blue/Black Ball Point Pen only for writing

particulars on this page/marking responses.

. Rough work is to be done on the space provided for this

purpose in the Test Booklet only.

. On completion of the test, the candidate must hand

over the Answer Sheet to the Invigilator before
leaving the Room/Hall. The candidates are allowed
to take away this Test Booklet with them.

. The CODE for this Booklet is KK. Make sure that the

CODE printed on Side-2 of the Answer Sheet is the
same as that on this Test Booklet. In case of discrepancy,
the candidate should immediately report the matter to
the Invigilator for replacement of both the Test Booklet
and the Answer Sheet.

. The candidates should ensure that the Answer Sheet is

not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Test Booklet/Answer Sheet.

. Use of white fluid for correction is not permissible on the

Answer Sheet.
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orbit about the Sun, at positions A, B and C are
K,, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(D
(2)
3
(4)

Kj > Kg > K¢
Kg <Ky <K
Ky <Kp <K
Kg > K, > K

A solid sphere is in rolling motion. In rolling
motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy

(K,) simultaneously. The ratio K, : (K; + K,) for
the sphere is

1 5:7

(2) 10:7

3) 7:10

(4) 2:5

A solid sphere is rotating freely about its
symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(1)
(2)
(3)
4)

Moment of inertia
Rotational kinetic energy
Angular velocity
Angular momentum

If the mass of the Sun were ten times smaller
and the universal gravitational constant were
ten times larger in magnitude, which of the
following is not correct ?

(1)

Walking on the ground would become more
difficult.

Time period of a simple pendulum on the
Earth would decrease.

(2)

3
(4)

Raindrops will fall faster.
‘g’ on the Earth will not change.
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toy car with charge’q moves on aCfI'IC 1%
horizontal plane surfacgunder the influence of_>a
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are
respectively
(1) 1m/s,
(2) 1m/s, 3:5m/s

(3) 2m/s, 4m/s

(4) 1-56m/s, 3m/s

A block of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 0

for the block to remain stationary on the wedge
is

3 m/s

A
2
a
0
C B
g
1 =
D 2=
(2) a=gcos0
3 a=—2
cosec 0
(4) a=gtan0

The moment of the force, F 4 i+ 5J - 6k at

(2, 0, — 3), about the point (2, — 2, — 2), is given by
1) -43-5 -8k
A A AN
(2) -71i-8j -4k
A A A
3 -8i-4j5-Tk
A A A
4 -7i-4j -8k

A student measured the diameter of a small steel
ball using a screw gauge of least count
0-001 cm. The main scale reading is 5 mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0-004 cm, the correct
diameter of the ball is

(1) 0525 cm

(2) 0053 cm

(3) 0521 cm

(4) 0529 em
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A A A
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A A A
(4) -7i-43j -8k
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10.

11.

12,

its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

v

T

B
A
0] —T
2
1 —
D 3
1
2 _
(2) 3
2
(3) =
2
4 —
4) 7

The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 cm, the length of the open organ pipe is

(1)
(2)
(3)
(4)
At what temperature will the rms speed of

oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

8 cm
12-5 cm
13-2 cm
16 cm

(Given :
Mass of oxygen molecule (m) = 2-76 x 10726 kg

Boltzmann’s constant kg = 1:38 x 1022 g K_l)
1
(2)

8360 x 10* K
5016 x 10* K
(3) 2508x10*K

4) 1254x10*K

The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, is

1) 20%

(2) 625%
(3) 268%
4) 1256%
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8 cm
12:5 cm
13-2 cm
16 cm

(2p&8mer ppedaner Hlanm (m) = 2:76 x 1026 kg

Gumrer evGoar wrhledl kp = 1:38 x 1023 JK!
Qasr@ssuuLl(heTerg))

(1) 8360x10*K

(2) 5016x10*K

(3) 2:508x 10*K

4) 1254x10*K
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(1) 20%

(2) 6:25%

3) 268%

4) 12:5%
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14.

15.

with of different colours for its

identification. The colour code sequence will be
(1)
(2)
(3)
(4)

rings

Yellow — Violet — Orange — Silver
Yellow — Green — Violet — Gold
Violet — Yellow — Orange — Silver
Green — Orange — Violet — Gold

A set of ‘n’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is I.
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘n’ is

1 11
(2 20
3 10
4) 9

A battery consists of a variable number ‘n’ of
identical cells (having internal resistance ‘r’
The

terminals of the battery are short-circuited and

each) which are connected in series.

the current I is measured. Which of the graphs
shows the correct relationship between I and n ?

I
&) f -
O —>n
I
@) Ti
O —n
I—
@ !

@) —>n
I
4) T i
(@) —>n

8!

14.
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17.

18.

19.

em wave is propagatlng in a medium with a
velocity V = vi i. The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along
(1)
(2)
(3)
(4)
The refractive index of the material of a prism is
J2 and the angle of the prism is 30°. One of the

two refracting surfaces of the prism is made a

+ z direction
—y direction
— z direction

— x direction

mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence
on the prism is

(1) 45°

(2) 30°

(3) 60°

(4)

Zero

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards

the mirror, the displacement of the image will be
(D
(2)
(3)
(4)

36 cm away from the mirror
30 cm towards the mirror
30 cm away from the mirror

36 ¢cm towards the mirror

The magnetic potential energy stored in a certain
inductor is 25 md, when the current in the

inductor is 60 mA. This inductor is of inductance
(1) 138-:88 H

(2) 1-389H

(3) 0138H

(4) 13-89H

!
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(1) 45°

(2) 30°

(3) 60°

4) &

15 cm galwsgmd Qamear e &ulyiquiladmbs)
40 cm OQgreveelled CUMBET meusGsLILIL (HETaTg).

o ' L|DLOm&

wroptiu®dng.  eeflufer

qeow Cprsdlu Havguller Qummernerg) 20 cm
Qs reravedlh @ BSTSSILLLTE, GibLigSerr
@LOGuwTe]

(D
(2)
(3)

(4)

< lquilall(BHg 36 cm afledlFOlFaan
<24 Crrsdl 30 cm Crrsdl @) ms @b
< lqulalmpg 30 cm aflewdl§Cgdeb
Bl Crrsdl 36 cm Cprsdl @méEm
@m Wergramguid  Cosflgsuiul Herer  &1Hs
Blevawrdmed 25 md, Wergramguia WerCerm L ib
60 mA crafled, Wergnaradlesr iy

(1) 138:88H

(2) 1-389H

(3) 0138H

(4) 1389H
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20.

21.

22,

23.

An electron of mass m with an initial velocity
IT):VO/i\ (Vo > 0) enters an electric field
I_*]) =— EOIi\ (Eg = constant > 0) at t = 0. If A is
its de-Broglie wavelength initially, then its

de-Broglie wavelength at time t is

@D A (1+ el tJ
mVO

(2) Apt
3) k—%

(1+ ] tj

mVO

4) Ay
For a radioactive material, half-life is

10 minutes. If initially there are 600 number of
nuclei, the time taken (in minutes) for the
disintegration of 450 nuclei is

(1 10
(2) 30
(3) 20
(4) 15

The ratio of kinetic energy to the total energy of
an electron in a Bohr orbit of the hydrogen atom,
is

(1)
(2)
(3) 1

4) =2

When the light of frequency 2v, (where v, is

-1
-1

S

threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is v;. When the frequency of the incident
radiation is increased to 5v,;, the maximum
velocity of electrons emitted from the same plate
is vo. The ratio of v; to vy is

1) 1:4 1 1:4
2 4:1 2 4:1
3) 1:2 3 1:2
4) 2: 4 2:1

21.

22,

23.
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@ A
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(1 10
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(3) 20

(4) 15
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AOOYESOTET 556
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2 2:-1

3 1:1

4) 1:-2
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25.

26.
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m air on a plane
surface of a material of refractive index ‘W. At a
it is found that

refracted

Unpolarised light is incident

particular angle of incidence 7,
the reflected

perpendicular to each other.

and rays are
Which of the

following options is correct for this situation ?

(1) Reflected light is polarised with its electric

vector perpendicular to the plane of

incidence

. . _1[1]
i=sin | =
u

Reflected light is polarised with its electric

(2)

3

vector parallel to the plane of incidence
i=tan ! [lj
n

An astronomical refracting telescope will have

(4)

large angular magnification and high angular

resolution, when it has an objective lens of
(1)
(2)
(3)
(4)

large focal length and small diameter
large focal length and large diameter
small focal length and large diameter

small focal length and small diameter

In Young’s double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to
(1)
(2)
(3)
(4)

19 mm
21 mm
1:8 mm

1-7 mm

3!
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26.

EO@%QS]GDSSGD aemOsream_ goger LrGer g,
sl mbg @@ saredameranm aflLBEDS. @
GO u@Gsrend -0 GrHueiiiy s mb
dMo@sdmh qarnsbarean QFh@EssTs @mLLG
saLPlwiL G Dg. O\bss GhBlameass,
erLmeuamaumbled eThss gmdm Filuimerg)

(1)  QGrduediy el S|SB Wletrenflwied

QeusLmmLammar  U@BseTSHDE CQFmGSs
Hevgufled gemellanemeymid

. . _1(1J
i=sin | =
u

(2)

(3)  WGrduedliy el S|SB Wletrenflwied
QeusL(pLarmer LHgasHDE @enanrdanaudled
SeredleneramiLd

4) i=tan_l(lJ

M
em arallud gefldlosd Csmae Crrsswurarg,
i8ls
Faffoeuria|lb O &STeTiq(HdHs,

o wr Camewr

Caremr 2 (BLGLIMHSSPLD,
e QUTmeT(h&
clldenewimerg

(1) <fs @elwuggmbd wHmb Afwu e Libd
Qe (m&s Couar(hib

<fls  @alusgmd  wHmD s
Qs ey (h&s Couem(Hibd

GopHs GeNwussTrbd wHobd SHs G
Qe m&s Couar(hib

GOPHS GENWSEITD WHHID GG 65l L 1D
Qs ey (h&s Couem(Hib

L b

(2)
3

4)

Wi Qerey  uNCenganeruied

20 Qe
Gerays@psE @eLuull d  operg 2 mm.
LWETLESSILEDL Geflifer @@aBand A = 5896 A
wLHpbd  HersEhd
Qzrenevey D e gy 100 cm. eueverwimigefler

Gereys@Hd  @enL il L

Caranr s 0:20° 96z A womd D wHruns
0-21° oerey flsflss,
Yera|s@h&E Qe il L Qgmaaaid GCsaeuuwimar
LOTHOHLD

(1)
(2)
3)
(4)

Camanr  Sis5MS

19 mm
21 mm
1-8 mm

1-7 mm
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27. In the circuit shown in thepﬁgure, the igput 29- a%@g;(;rr@é;a;uur_(amm &HOID, 2 araf(h

voltage V, is 20 V, Vg = 0 and Vgg = 0. The Hamarpgso (Vi) 20 V, Vg = 0 wpgid Veg = 0.
values of I, I and B are given by erafle, Ip, I opmid P e gl

20V 20V

(1) Ig=25uA, Ig=5mA, =200 (1) Ig=25uA, Ig=5mA, f=200
(2) Ig=20pA, Ig=5mA, =250 (2) Ig=20pA, Ig=5mA, f=250
(3) Ig=40uA, Ic=10mA, B =250 (3) Ip=40pA, Ic=10mA, =250
(4) Ig=40pA, Io=5mA, f=125 (4) Ig=40pA, Io=5mA, =125
28. In a p-n junction diode, change in temperature 28. @n pn  spfleoGurgd,  Gatulu@ssy
due to heating U@eugme ghu@b Qeuliublene wrHmD
(1) affects only forward resistance @) (BOGfYFC'gGUTI:I'éSaC:]U_I lenL_gent_enu LD (H1D
undl& @b
(2) does not affect resistance of p-n junction (2)  pnspHler Bemselamw LrHssns)
(3) affects only reverse resistance (3) HEmniu Hemse _ew v Gid LTHEED
(4) affects the overall V — I characteristics of (4) pn epdulen eppeugiwrer V- I uamluene
p-n junction und& @D

29. In the combination of the following gates the[29. &Cp  Ger@&suul(édrer  sisseaurday  &bm

output Y can be written in terms of inputs A and S, o dafhiadr A wpmid B perer #flwmer
Bas Qauefui® Y
Ae

Ae L

. & Be
Be ( >c % [ >c Y
() A.B+A.B (1) A.B+A.B
(2) A.B+A.B (2) A.B+A.B
3 A.B 3 A.B
4 A+B 4 A+B
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31.

32.

33.

glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 cm and 73 cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 339 m/s
(2) 350 m/s
(3) 330 m/s
(4) 300 m/s

The electrostatic force between the metal plates
of an isolated parallel plate capacitor C having a
charge Q and area A, is

(1) linearly proportional to the distance

between the plates.

(2)

proportional to the square root of the
distance between the plates.

3

independent of the distance between the
plates.

4)

inversely proportional to the distance
between the plates.

An electron falls from rest through a vertical
distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of
fall of the electron, in comparison to the time of
fall of the proton is

(1)
(2)
3
(4)

5 times greater
10 times greater
smaller

equal

A pendulum is hung from the roof of a
sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is
20 m/s? at a distance of 5 m from the mean
position. The time period of oscillation is

(1)
(2)
(3)
(4)

TS
2s
2n s
1s

31.

32.

33.

t3§| 'g&?%mnqé Gwmie gsdamsmes gHL(BSS @

@asssme UWaTUHSSILOSDS. @ @QuhiE

samerLsCsrar(h  GpruiayeT o dter  sTHNIS
SbLsS et Bersans #R@ewemD. 27°C
s@plaugloaud, 2055088 — Qrenl

psHaoseisdr 20 cm wHmb 73 cm  FersHed
o heunssLILBEng. Gesssmeuufer 8 T6eu e
320 Hz eraflev, 27°C @ qadller SansCeuswomang ?
(1) 339m/s

(2) 350 m/s

(3) 330m/s

(4) 300 m/s

Q Wergyr Lid wHmdb A ugliy QarerL Genenr
550 WlarGgsHuler C GNssLLL@ReTer @ rarm(h
550&5@EHEE Qe Cu srauriiu@in Hleve wlereflwied
levswnerg)

(1) ssdsErsE @aLlul L AsraaeinE
Crflwer gl QuTBSSIpenL WG]
55(H&HEREE G Ul L Asmaraelins
@iy ape elagl QUTmSSPELUIF.
55H&HEHEE @ ul L GgTanaenal

FMTTSS].

55(H&HEHESE Gl Iul L AsTaraeins
erdlfefldlg QUSSP WG

Eymen WHMmILD QemiGssTs CuaCrmsdlw
SHavgufeonar g Wer e E @, @@ erCosymer
g @ueflamouldmbs  Deni@gssts h
Qzrenevey &G ApSng. @uQumps
Weryeogder oemey  StLgCu  eeussLiuc ()
SHevgol b Heuuiu@Spg. @  LCrmiLmer
gargl WearLosdeaner Gs 2 wgbd h yerellhE
EC cllpomm) QeiwtiuGEng. cranfled
sl ymer eflpd Cry ety HGTmmer adl(ipbd
Crr eme |6 el Lmed

(1) 5 wrmeE Quilug

(2) 10 wriE Quilwug

3)  Adlug

(4) swwrag

Coeeuwinar o wipupeter &gl SHler  smanyufler
2 sl mpg) *0
Qariselliur (Hererg wHHID g @ Slas
SioullupdCurd  @perayd Wereyd @uieoins
Seaniomn  2drergl. sgrafl  Hlaveulelmbgl
5m Qsreveeier sarsd LpHer (p@ssnd 20 m/s?
crafled, emevey Crrbd

1 =ns

(2) 2s

3) 2ms

(4) 1s

(2)
3
(4)

SMFQLTETG)
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35.

36.

37.

q&:htt

mass pell /u%RSEQthﬁ
0-5 kg m! s lying horizontally on a smooth
inclined plane which makes an angle of 30° with
the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in

the rod to keep it stationary is
(1) 598A

(2) 1476 A

(3) T14A

(4) 11-32A

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

1) 256Q
(2) 250Q
(3) 40Q
(4) 500 Q

A thin diamagnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
energy. The work

gravitational potential

required to do this comes from
(D
(2)

the magnetic field

the lattice structure of the material of the
rod

the current source

the induced electric field due to the
changing magnetic field

An inductor 20 mH, a capacitor 100 puF and a
resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is

(1) 043 W
(2) 274W
3) 079W
4 113W

3)
(4)

[s3!

35.

36.

37.

.com

g @eE Barsdne 0-5 kg m™ HepQarem g
2 Coonasd sl qerm, FeL L ggiLer 30° sriieys
CaramsamssOamaTL.  eUpeIpLIUTGT  FTilSaTsd 6
Bg HLgsriur Harerg. slunearg ECpel(pssTod
@mss, Osmgsg SHosullo 025 T asrpsl
HosgrarL o CQewudu@ssiul®, <iser et
WerGarmL b umybuly Qeuwiu@Spg. erefdd,
sPleows BEITLD  Hleewns  deusd(hEs S
o flCGw umyd WlerCerm b

(1) 598A

(2) 1476 A

3) T14A

(4 11-32A

@0  QuiiE  smer  smoeuCerm LS LMeir
WerCerm L. 2 ewre] HILUWL 5 div/mA wHmibd
WNerempss oemie] mrub 20 div/iV  eafléd
srdeuCarm B Meir WeTsenL

1) 256Q

(2) 250Q

(3) 40Q

(4) 500Q

(1 Hersrbgs — gi(Hed pavers@Ensdlan_Guw
QemiGssns Gededlws erali STHSESLH
eussLILL(hetargl. WBleatamhs WerCarmLbrerg)
S@ILSHESILLL gD, @l L STHSL LosSHd
adlit  ampsssyl  CoaChrad  gereruL(GEHg).
carGeu  sflwunerg FrrLY  WlarHlane  phmeneL
Qumiflmgl. @snH@ Csameuwnar Ceimeanus Glauwiw
SGEl

(1)  srpsLiyeDd

(2)  sPQeLwIULHeTer Cummerl e
SienflECamenen HL Lol

(3)
4)

Wletr eLpevLD

STHSL L THDSHerTed grewr iU
WesTLjeuLd

em WBeargramg 20 mH, om wWarCssdl 100 pF
wHopbd e WBeasaL 50 Q g dwuer Qg
@aemibe, emf, V = 10 sin 314 t 5 Qe CGuw
@amanssliLl(Hearg @b &HOld ghHUBL HHDED
QL

(1) 043 W

(2) 274W

3 079W

4 113W
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39.

40.

41.

The power radiated by a black body is P and it
radiates maximum energy at wavelength, A,. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength %XO, the power radiated by it

becomes nP. The value of n is

1 -
(2)

3 -

81

4) 256

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

1) 6F
(2) 4F
3) 9F
4 F

A small sphere of radius ‘r’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is
proportional to

1) 1
(2) P
3
4

A sample of 0-1 g of water at 100°C and normal
pressure (1-:013 x 10° Nm™2) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 167-1 cc, the
change in internal energy of the sample, is

(1) 2087dJ

(2) 42:2J
(3) 104:3J
(4) 8454J

g

39.

40.

41.

'g&?'ﬁ@&@un@@ﬂm <Yhped sdieiss P opmibd

2g Quw Yyhpoe Ay Amebarsdd alafng.
smwEurmefler  Qeuliuflwwew, g G

<D %7“0 smaparsded Qeuall gHpeurmy

wroflerme, dned sHieiss nP  eeprdng.
ecrafled, n-eir ol

| >

(1)

DN W

56
9y 222
(2) 1

8
3
(3) 1
81

256

a@Cr Qummeilerme Ceuwiiul L @rear@® sblser
&Gy =jemey LW QETETLSTEa|b 2 6Terar. (PSHeD
s19ul e GINETG ALY GTWTHY, (T A LHMILD
@ranrLreug sbl@ler GnsELeaulHuuriy 3A
<U@&WD. s sl Bersams Al Sere oFsNss
sgar g lans F Qeueou®ssiubdng erefe
@ranLmeug sblewwyd <%Cs arey Bligds
Coameuwirer allangulilen jere]

4)

(1) 6F
(2) 4F
3 9F
4) F

T-gyb OQarar @ Sflw Carerorerg euiey
Blevaulalmbg e umin SHreusHeaner eflpomm
Qeuwtiu@dpg. @ser  oflewemeurd LMW
englarmed Geutiud 2 (Haundlpg. Camarbrerg
ypoaws SosCassms AeLwbGurg Geulin
o (heu&s 6ig iflgl QummssD

1 1

@ 1
3 1
@
100°C &, Quicbuimer 2j(pdsHed (1:013 x 10° Nm™2)
odrer 01 g wrdfl feoy elwrs wrHy 54
sCamflgeg 100°C Qeutin ppd CoameutiLBSHng.
@dle 2 pusdurer efufer Lwer 1671 cc
erafled wrdMuder =6 < Hmed wrmur®

(1) 2087dJ
(2) 4224J
(3) 104:3J
(4) 8454J
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43.

44.

45.

frictionless track from a height h (as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

B

)

A

<5

(1 D

(2)
3)

(4)

Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed m about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

(1) Wpo>Wg>Wg
(2) Wp>W,>Wgq
3) We>Wg>W,
(4) Wpo>We>Wg

A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be

(1) 025

(2) 08

3 05

4) 04

Which one of the following statements is
incorrect ?

(1)

Limiting value of static friction is directly
proportional to normal reaction.

(2)
3

Frictional force opposes the relative motion.

Rolling friction is smaller than sliding
friction.

Coefficient of  sliding
dimensions of length.

friction has

4)

43.

44.

45.

t4§.| '5@9&%@@ pue|blereulgierer e CuUTmHaTTETS)

h-»> LrsHOmBs 2 rrieudy Uzl (LGS
sl qweurm) SPpmd @m Cshi@ssrer el L
shen WPsdpg. eulLE apler el b AB =D
erafled, 2 wigidb h i Fwwrang

h B
)
l A
1 D
@) %D
3) %D
@ 2p

gperm Qummetaser A @ (@ S Csmerbd), B : (g
Qe eul el ®) wombd C : (rm el
cuemeTwid) gelCeumammid @Gy =jemey Hlep M
oHmd b R Qararieveuwn@d s
siFamsiupd @Cr <jere| CosramdlansCoisd -
spadlammer.  Seupan  @UemasE — Csme(
aumeugn@ GCsmeuwrnar Geuee ojare) (W)
wdlemu YrsHeslicugharer QErLiy

(1) Wo>Wg>Wg,

(2) Wg>W,>Wg,

3) We>Wg>W,

(4) Wr>Wi>Wg

m-BleopQarear._.  Bs@mb  Csm@ly et 4m
BleopQarenr  Hlevoowns odrer Qar@rder g
Corgdlmg. Corsais@l  Wear  Hlan@eameurar
Qareuy @ueblanss aumdng. Hlangmbeurear
QsmaLiber  gleuss FHosCausnd Vv erafld,
BlevalS A& @ansid () e i

(1) 025

(2) 08

3) 05

(4) 04

etreu(HLd Fnbbled 6TF Seaumreg)

(1) fHleve o grellen euyiby wliy Crr@Ess
ardlirellenars@ Crrelldlgl QummSSIpenLLIg.
2 gmile| edlengwneng iy QUESSMS

T TSEEFIg LI

2 (HEHD 2 TG (P& EGHLD

2 TTieneUSSTL g gD HAdwig.

QUWPEE 2 TTEYE &GS BeT e GSMaTs

(2)
3
4)
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47.

48.

49.

50.

spin magnetic moments of the ions given in
Column II and assign the correct code :

Column I Column IT
a. CO3Jr 1. \/§ B.M.
e ii. /35 BM.
c. T iii. /3 B.M.
d. Ni** iv. 24 B.M.
v. 15 B.M.
a b c d
1) i i iii iv
2) iv i ii iii
3) 1iv v ii i
4) i v i ii

Iron carbonyl, Fe(CO)j; is

(1) mononuclear
(2) trinuclear
(3) tetranuclear
(4) dinuclear

The type of isomerism shown by the complex
[CoCly(en)y] is

(1) Coordination isomerism
(2) Ionization isomerism
(3) Geometrical isomerism
(4) Linkage isomerism

Which one of the following ions exhibits
d-d transition and paramagnetism as well ?

(1) Cry02”
(2) MnO,
3) Cro>”
(4) MnO;~

The geometry and magnetic behaviour of the
complex [Ni(CO),] are

(1) tetrahedral geometry and diamagnetic

(2) square planar geometry and paramagnetic
(3) square planar geometry and diamagnetic
(4) tetrahedral geometry and paramagnetic

417.

48.

49.

50.

t4§| Gﬁ:g,g(g; I & Qer@ssiiur L 2 Gors swealsamen

Qsmad II & GCsrhssiiulL  euSweiserfer

sphél  srpsdBrusSnaier  GurGs  wHHID
sigar sflwrear @Muir e Csibos(Hdse :

Csmadl 1 Carad 1T
a. Co® i. 8 BM.
b.  Crt ii. /35 B.M.
c. Fe¥ iii. 3 B.M.
d  Ni** iv. 24 BM.

v. 15 BM.

a b c d
1 i ii iii iv
(2) iv i il il
(3) iv v ii i
(4) iii v i ii
@y srruamerd, Fe(CO)5 <,arg)
(1) qererns s
(2)  ws s
(3)  mrenE &
4) @ s
[CoCly(en),] simamey sT (B wrHOlwSE 6r
UMSWLITETE]

(D
(2)

ST LTHHWLD

Sjwed wrhHdlwibd

(3)  augeu eus wTHHWLD

(4) @eanriiy wIHMWID

Epsar. Swallseiid erg geam d-d wrHVS®FWLLD
WHOID LUTTTSTHSSSETEDL|D 2 L WSTEGD ?

1) Cr,0F

2 MnO,
3)

Cro%”
(4)  MnOZ"
[Ni(CO)4] ewanrallen LmGleuefl jenoli) wHmib
&GMhS SGTEOUITET|
(1) mrerepdl ynGeuafl emwliy wHmib Lwr
SMHGSS 6 EHLD
sgirger UpGelal <epwiiy whmib Cugm
SMHGSS 6 LD
sgirger UpGaelel ey whmid Luwim
FMHSES LD
wBrerpdl LmGeuafl ey whmid Cugr
SMHG S 66D

(2)
3

4)
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52.

53.

54.

55.

'a41(4 EpSgeOQa%E
acid is treated with conc. HySO4. The evolved
gaseous mixture is passed through KOH pellets.
Weight (in g) of the remaining product at STP
will be

1) 30
(2) 28
3) 14
4) 44

The difference between amylose and amylopectin
is

(1) Amylose have 1—54 o-linkage and
1 — 6 p-linkage

(2) Amylopectin have 1 — 4 o-linkage and
1 — 6 B-linkage

(3) Amylopectin have 1—4 o-linkage and
1 — 6 o-linkage

(4) Amylose is made up of glucose and

galactose

Regarding cross-linked or network polymers,
which of the following statements is incorrect ?
(1) They are formed from bi- and tri-functional
monomers.

(2)
3

Examples are bakelite and melamine.
They contain covalent bonds
various linear polymer chains.

between
(4) They contain strong covalent bonds in their
polymer chains.

Nitration of aniline in strong acidic medium also
gives m-nitroaniline because

(1) In electrophilic substitution
amino group is meta directive.
In absence of substituents nitro group
always goes to m-position.

In spite of substituents nitro group always
goes to only m-position.

In acidic (strong) medium aniline is present
as anilinium ion.

reactions
(2)
3
(4)

Which of the following oxides is most acidic in
nature ?

(1) BeO
(2) BaO
(3) MgO
(4) CaO

3!

52.

53.

54.

55.

'é%oglurrr'n_&é; Sl womd 45 g yssmels

Sflon  somel LT HySO, o6  efevar
yidlpg. Gesefleumd eumyssefler soemey KOH
enasefler 26 QeqssliLhdng. STP uled
Bgperer ellanerGummetlen erenL (g) wirang

(1 30

(2) 28

3 14

4) 44

SBlGemev  wHmd  HBCeTCLISg 6T
2 drer CeumLimL mevg)

(1) 1-54a-geerriy wombd 1 —6
B-@enantiian BlGevmen Gl meiriq. (& @&L0D
14 o-@eeniiy wHmd 1 — 6
B-@eenriianL CeomblLdig e

Qs memriq (H&@LD

1> 4 a-@eenriy wHmd 1 — 6
o-@evanriianLl LG TELIGLg 6

Qs memTiq (H&@LD

GerGamev LHNID sro&GLTearmed
SBIGeme 2,E&LILIL g (HEHEHLD

GINETGT:S QamLiry Slhevg) alaeL 119 6resed
UeulggEmer QuTsg, Spsar. sampmseid erg
earn sflwrearg Gevene ?

(1) e @rlenl OHMILD (LPHELD -
Memangs6gr@Ed emuiguianmed 2 (heum@Lb.
CusameL., Guaenwer @eubdlb s
T(HSGIS&TL_(H&ETT(SLD.

QeucuGeumy CrIGasTL_(H LG
shslsEnsdan_Cu salaneniiL|gsamar

Qs merLg.

vy Fhsdlefler ane auadlenwimen

& ADETIILISEET 2 L _Lig).

cuallenoLsl(, SiLfle 61L& &b S| atedl e
@bl Cropd m-epl Cyr afelleanyd FmEng,
ereo erafled

(1) erevsL_mesr

@ Gw

(2)

3

4)

(2)
3

4)

sauf Ul  ecllearsafied
Carm Ggm@d m-eupL &@Lb.

udleShaser @aorsCurg eplCrm CQsrgd
eriGumgib m-@L sens CrradCuw Qadegib.
uflShsdr @mbsCurginb eplCGrm CQsrEd
eriGumgb m-@L sens CrrsdHCuw Qadgb.
<l  (eudlemwillE) oL s et
Satelafiub Sweaflwrs @)me@Lh.

Epsa ysmshsailer g Quibmswurs s
S|SlSHemenLow|enL g ?

(1) BeO

(2) BaO

3) MgO

(4) CaO

(2)
3

4)
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57.

58.

From: http:// cbsepor

10N

adeq

e reac

OH O Nat

@ + CHCly + NaOH ———> @ CHO

the electrophile involved is
@
(1) formyl cation (CHO )

S]
(2) dichloromethyl anion (CHCl,)

®
(3) dichloromethyl cation (CHCl,)

(4) dichlorocarbene (:CCl,)

Carboxylic acids have higher boiling points than
aldehydes, ketones alcohols of
comparable molecular mass. It is due to their

and even

(1) formation of carboxylate ion

(2) more extensive association of carboxylic
acid via van der Waals force of attraction

(3) formation of intramolecular H-bonding

(4) formation of intermolecular H-bonding

Compound A, CgH,,0O, is found to react with

NaOI (produced by reacting Y with NaOH) and
yields a yellow precipitate with characteristic
smell.

A and Y are respectively

@ ¢ ) CH,- CH,-OHand 1,
|
OH

(2)

3) HyC CH,-OH and I,
Hj

c
(4) CH, G OH and I,

57.

é@@(ymmuﬁ]w
O™Na*

@ + CHCly + NaOH ———> @ CHO

Qs e seulm sryanflwuns FHUBH UG

@
(1) unfewed Cpi uied (CHO )

S)
(2)  eLECamCrr Qs eadi sjwaf (CHCL)

@
3) e @CernCrm Quwsdle Criojweafl (CHCly)
4)  eLgCamCyr sriler (:CCl,)

UL &aniq EPOGFn M) BlenmujenL_w
21 @an (HSET, & CLmeaen LHMID
DSAD TSN 6T SMIq qoILd STTUTSEVTEIS
Sbeomssr  oFls  Cardbleven  yerellsamar

2 LW g erefled @eummled

(1) smiursellGal @jwefl 2 (Heumreugmed

(2)  eumawLit  eumevev seumES ellens  epers
sriursevrals  gflegdar  ofls s
@ TESSSTeD

)  passmde_CGu H GameanriiL 2 meursad

4)  epossmdaer H Genenriiy o (meunsed

Garod A, CgH,(O, NaOl yrer afenarfleusns
SNAComd (Y-wreng, NaOH = e sfleneryfpg
o pusHundlmgl) LOHMID @@ EHEET GILPLIG M.
GO 888 @b uiL e sBSDg-

A vppid Y wrergl papCu

(1) @- CH,; — CHy — OH wpmiib Iy

@ ¢ ) CH-CHyuppo 1,
|
OH
3 HgC— ) CH, - OH wppiv I

CH,

(4) CH, @ OH wpmi I,
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59. The compound A on treatment with Na gives B,
and with PCl; gives C. B and C react together to
give diethyl ether. A, B and C are in the order
(1) CyH5OH, C,H;5Cl, CoH5;ONa
(2) CyH;Cl, CoHg, CoH5;OH
(3) CyH5OH, CoHg, CoH5CI
60. Which oxide of nitrogen is not a common
pollutant introduced into the atmosphere both
due to natural and human activity ?
(1) NOgy
(2) NyO
(3) NyO5
4) NO
61. Hydrocarbon (A) reacts with bromine by
substitution to form an alkyl bromide which by
Wurtz reaction is converted to gaseous
hydrocarbon containing less than four carbon
atoms. (A) is
(1) CH,=CH,
(2) CHg-CHg
(3) CH=CH
(4) CHy
62. The compound C;Hg undergoes the following
reactions :
3Cl,/A Bry/Fe  7Zn/HCI
CHy —2—>A—2>B= C

The product ‘C’ is
(1) o-bromotoluene
(2)
(3)

(4)

3-bromo-2,4,6-trichlorotoluene
m-bromotoluene

p-bromotoluene

60.

61.

62.

tal.com
59.

Carod A wrergl Na o e Goipg B & smépg
wpmid PCly wrer C & smdmg. B wopmbd C
patnrs clamarflbg eLeasdd mEsmT SHEADS.
A, B opmib C e euflengwinang

(2) CyHsCl, CoHg, CoH;OH

(3) C,H5OH, CoHg, CoH5CI

@Qupes wHmL wels CFwue @ reaTgearTeb

cuaflar gy 261  L@&GSsUUBHD  bLFmer
AsnFHH@EHeT org ern Gurgeurear wLI&EUHES
Hlem_wing ?

(1) NO,
(2)
(3)
4

Ny,O
N9Os
NO
aant Crramruer (A) yCrmieyer LSS qermed
Memaryfipg <gdesd YErmewel 2 (heumd@Lb
SmaCu 2 mev elenamuier eped BIem@GEHESL0
GODEUTET  SMTLET  Sa@m&ssamer  OETam  eumy

eapl Grrsmiuerms LrHHL AHoLSpng. (A) eurarg
(1) CH,;=CH,
(2) CHs;-CH;j
(3) CH=CH
(4) CHy

Caiob CrHg Spsar cleneanw Lfdmgy

3 Clz/A Brlee Zn / HC1
A B

7Hg
Sear@urmer ‘C wnars)
(1)
(2)
(3)
(4)

0-4GyrGrGlLrgyailer

3-4yGyrGom-2,4,6- Lavr@CarCrmeLmgeier
m-LCrrGuom@Lmeedler
P-4CrmGurelLmeyedler
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be most stable ?

o )

Y H

NO,

v/ &
NO,
Y H

NO,

Which of the following is correct with respect to
— I effect of the substituents ? (R = alkyl)

(1) -NRy<-OR<-F
(2)
(3)
(4)

T

(2)
(3)
(4)

=

64.

-NHy>-OR>-F
-NHy <-OR<-F
—-NRy>-OR>-F

65. Which of the following molecules represents the

order of hybridisation sp2, sp2, sp, sp from left to
right atoms ?

(D
(2)
3
4)

CH,=CH-C=CH
CH, =CH-CH = CH,
HC=C-C=CH
CH;-CH=CH - CHgq

65.

64.

Qg%?c%g&ge OIEOQV{ITl]g :car to!::a 1(:)n/s /is((:egpsecetepdot(r) t6§.| - £onmt

Epasea sriuer Cpr Swalluied erg s Hs

BlevUILSFETEND 2 L WSTE 6T TUMTESOTLD ?

o

NO,
Y H
NO,
e
v/ &
NO,
Y H
NO,

-1 udeS® ellewerency QUGS Spsereubmier

(2)

(3

s

4)

<

orgl sflurerg : (R = ydenged)

() -NRy<-OR<-F

(2) -NHy>-OR>-F

(3) -NHy<-OR<-F

4) -NRy>-OR>-F

@QLIBI(BHG  GULNE  DEmI&HSET &Q&G&NL THS
PO &G ] 6L sp2, spz, SP, Sp @Sl auflansamwis

sm_(H ?

(1) CH=CH-C=CH
(2) CHy;=CH-CH-=CH,
(3)
(4)

HC=C-C=CH
CH; - CH=CH - CHyg
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66. ldentify the major products

following sequence of reactions :

g

Anhydrous

AICI,
+ CHyCH,CH,Cl ————>—>

(@) 0,

T Q +R
(ii) H3O*/A

P Q R

CH,CH,CHg CHO COOH

Q0.0

CH(CH,), OH
@) @ CH3CH(OH)CH
CH,CH,CH;  CHO
OH
CH(CH,),
) @ _ CHy - CO - CH,

67. Which of the following compounds can form a

zwitterion ?
(1) Acetanilide
(2) Benzoic acid
Aniline

3

(4) Glycine

t al
66.

67.

.com

Epsar  earsailar  cuflengudled

PSEW

clemarGumrmerser P, Q wpmid R & seprdluieb :

£les
AIC,
@ + CHyCH,CH,Cl ———2
(i) 0,
— 2 . Q+R
(i) Hz0"/A
P Q R
CH,CH,CH; CHO  COOH

g @ , @ , @
CH(CH,),
@) @ @ CH,CH(OH)CH,

CH,CH,CH;  CHO
OH
CH(CH,),
) @ CH, - CO — CH,

EpsarL Comomsefledy erg evsmelll i waflanw

2 (HEUM& @D ?
1) <fLalea@®

(2) QuenCGamuils oleib

(3)  iafedleir

SN 6T 6o

4)
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69.

70.

71.

different volumes of NaOH and HCI of different
concentrations :

a. 60 mL M HCI + 40 mL E NaOH
10 10

b. 55 mL M HCI + 45 mLL E NaOH
10 10

c. 75 mL % HCI + 25 mLL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

pH of which one of them will be equal to 1 ?
(1)
(2)
(3)
4) ¢

T ®

On which of the following properties does the
coagulating power of an ion depend ?

(1) Size of the ion alone

(2) Both magnitude and sign of the charge on
the ion

(3) The magnitude of the charge on the ion
alone

(4) The sign of charge on the ion alone

Given van der Waals constant for NHg, H,, O,
and CO, are respectively 4:17, 0-244, 1-:36 and
3-59, which one of the following gases is most
easily liquefied ?

(1) H,

(2) O,

(3) NH;4

(4) COqy

The solubility of BaSO, in water is
2-42 x 107 gL_1 at 298 K. The value of its
solubility product (Kg,) will be

(Given molar mass of BaSO, =233 g mol_l)

(1) 108 x 10712 mol? L2
(2) 1-08x 1074 mo2 L2
(3) 1-08x 107 mo2 1,2
(4) 1-08 x 107 mol? L2

69.

70.

71.

t6§| '(.5:69@5@@@1 Qeleysefles NaOH wopmidp HCl &

QeucuGoumy  sarsjaTeiled
Epsam sarsdsaid

a. 60 mL E HCI + 40 mL ivI_O NaOH

sOhg  SUTHSSILLL

b. 55mL HCI + 45 mLL iVI—O NaOH

c. 75mL

w2 3l= S5

HCI + 25 mL % NaOH

d. 100 mL 1M0 HCI + 100 mL % NaOH

ergan qanlen pH <oyang 1 6@ swwTE @QMHSED ?

(1) a

(2 d

3) b

4) ¢

EpsarL by LaTselld @ Sweafluler Hilsed

Sper gnipdHEGD ?

(1) yweluler sereliled L (HLd

(2) Swefllller leareend emey wHMD @GO
@reamenwyGo

3)  weluler Weraenn semeliled L (HLd

4) Swefller Wearaamw @Hlew WL B

NH,, H,, 0, wpmd CO, && Ger@ssiulL

eumeRTL T eumebey Lomdledser wpepCGuwr 4:17, 0-244,

1:36 womid 3-59, Epsan. eurysseid erg qetn

W& eraflgmas Freuwm@id

(1) Hy

(2) Og

(3) NHj4

(4) COq

298 K & $ifle> BaSO, e sanydpern 2:42 x 1073 gL 7L,

g SIS OlLmES (Ksp) wdurerg

(Qsr@ssiur L. BaSO, er Corent Hlem =

233 g mol™!)

(1) 1:08x 102 mol® L~

(2) 1:08x 10 * mol® L™

(3) 1:08x 107" mol® L

(4) 108107 mol® L

2
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73.

74.

75.

76.

are in the ratio of 1: 0-5: 1. AH for the formation
of XY is — 200 kJ mol™L. The bond dissociation
energy of X, will be

(1) 100 kJ mol ™!
(2) 800 kJ mol !
(3) 200 kJ mol !
(4) 400 kJ mol!

When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction

(1) is doubled
(2) istripled
(3)
4)

is halved

remains unchanged

For the redox reaction
MnOj +Cy02~ + H'—— Mn*" + CO, + Hy0

the correct coefficients of the reactants for the
balanced equation are

MnO; C,07~ H'
1 2 5 16
2 2 16 5
3 16 5 2
4 5 16 2

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ay (g) +By(g) = Xo(g) A H=-—XkJ?
(1) Low temperature and low pressure
(2)
(3)

(4)

High temperature and high pressure
Low temperature and high pressure
High temperature and low pressure

The correction factor ‘a’ to the ideal gas equation
corresponds to

(D
(2)

volume of the gas molecules

electric field present between the gas
molecules

3
4)

density of the gas molecules

forces of attraction between the
molecules

gas

73.

74.

75.

76.

AL i XY Wen Geaniy Gfes wyppé

1: 05 : 1eramp efagssded 2 arergl. XY o (Heursed
AH sparg — 200 kJ mol™. X, efler Gevawriiny
Wflens <y mooorerg
(1) 100 kJ mol ™!
(2) 800 kJ mol !
(3) 200 kJ mol !
(4) 400 kJ mol !

ellanar(H6 Limmer ebr Qedey
@mwLBsT@gEDd GCurg, @m Uhweims ellaaruder

(OF (- 2:-

DD QUTPE| &ML

(1) @@wwLEsTEDh

(2) bLLESTED

3) urdwum@b

(4) wmPTE @EHSESD

2 55nCardn @héEs elaarurer

MnOj +Cy02” + H'—— Mn®" + CO, + H,0

@6 FLTAILISSILL L FoTUT ger  allenarLi(h

Qunmefler sflwrer Qspeirerg)

MnO; C,07~ H'
1 2 5 16
2 2 16 5
3) 16 5 2
@ 5 16 2

EpsaL aiGpHlmoulld dsul s ellanarcummer
@eucllenanie o (Heuns eFgleum@L,

Ay (g +By(g) = X5(g) A H=-XkJ?
&OPHS LHRIL  GDDHS
UG

Sdls Ceulinflene LHOID AFS (PSSO

3)  ©opbs Qeutiuflane LHND ASE (PSSO
(4) <ods Qauiublene LOHNID GHDOHS H(PSSLD
B LI UMYy &FeTUT Iqed H(WHSSE sSmyemt ‘@’
@sH& Qs wg

(1) ey ppossmmsaier sardiere]

(2)

(1)

Qeutiublanad

(2)

eumuy
e eutd

ep & Fn Mg @EHSES e Guw [GEICT

3
(4)

QUTY POSIMSETET L5
UMY ppe&FnsErsiaGu o dter sHeurss)
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78.

79.

80.

81.

82.

decreasing order of oxidation states is
(1) HNOgz, NO, NH,CI, N,
(2) HNOgz, NH/CI, NO, N,
(3) HNOg, NO, N,, NH,Cl
(4) NH,CI, Ny, NO, HNOg4

Which one of the following elements is unable to
form MFg’ “ion ?

(1) Al
(2) B

3) Ga
(4) In

Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?

(1) Zn
(2) Mg
(3) Fe
4) Cu

The correct order of atomic radii in group 13
elements is

(1) B<Al<Ga<In<Tl
(2) B<Ga<Al<Tl<In
3) B<Al<In<Ga<Tl
4) B<Ga<Al<In<Tl

Which of the following statements is not true for
halogens ?

(1)
(2)

All are oxidizing agents.

All but fluorine show positive oxidation
states.

3
(4)

All form monobasic oxyacids.

Chlorine has the
enthalpy.

highest electron-gain

In the structure of C1F3, the number of lone pairs
of electrons on central atom ‘CI’ is

(1)
(2)
(3)
4)

two
four
one
three

78.

79.

80.

81.

82.

'&Om@&r’rmréjasaﬂm

Fflwmresr

@ohGaMas
B &5HCardm Hlanesater cuflapgwmearg)

(1) HNO,, NO, NH,CI, N,
(2) HNO,;, NH,CI, NO, N,
(3) HNOj;, NO, N,, NH,CI
(4) NH,CI, Ny, NO, HNO,

EpsarL gaflngded erg eremm) MFg_ Sjwefleaw
2 (HeUmd @ Querg ?

(1 Al

(2) B

3) Ga

(4) In

OlBaDTDd UL s  HMSHD — Csmarrme,

EpsarL 2 Carshseaid og gilamame @Hss
vweruh g ?

(1) Zn
(2) Mg
(8) Fe
(4) Cu
Qsm@d 13 gaflwmseaiar sflwrear g <,rhseter

cuflengwunerg|

(1) B<Al<Ga<In<Tl
(2) B<Ga<Al<Tl<In
3) B<Al<In<Ga<Tl
4 B<Ga<Al<In<Tl

Epsar.  s@mpmiseiid  apremasERs@E gl
2 arenLo ulebsmev ?

(1) ervamd Y &fleCarhdluim@ibd.

(2)  yepfener ST gl Sl HFID Cir

B &5HnCardm Hlencenu ST_(HLd.
(3)
(4)

CTOTD RHEDSTY &S OGNS S(HLD.
&Garmilesr iflawrear sl grer - GHDHD
eramgmenldl o enL g

CIF3 @owudd, evw g ‘Cl oder salss
Qs gren @yl safler crapranilEanswimarg)

1) Qe

(2) mrenE

(3) qatm

(4)  eparm

bovheadgc, From - http: /7 ehseraidodb RGN

Court esy gngidNERL


https://aglasem.com
http://cbseportal.com/
http://cbseportal.com/

@Wﬁilhg aggrgct Fﬁigmn:cehtbgtgz:eén/ Q'Qs%e pagﬁ

84.

85.

86.

second-order reactions is that

(D

the half-life of a first-order reaction does not
depend on [A]); the halflife of a

second-order reaction does depend on [A],

(2)

a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

3

the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations

4)

Among CaH,, BeH,, BaH,, the order of ionic

character is
(1) CaH, <BeH, < BaH,

(2) BeH, < BaH, < CaH,
(3) BeH, < CaH, <BaH,
(4) BaHl, < BeH, < CaH,

In which case is the number of molecules of water
maximum ?

(1)
(2)

0-18 g of water

0-00224 L of water vapours at 1 atm and
273 K

(3) 18 mL of water
(4)

Consider the change

102 mol of water

in oxidation state of

Bromine corresponding to different emf values as
shown in the diagram below :

- 182V - 15V
BrOy, — BrO3 ——> HBrO

Br Br,

%
1-0652 V 1-595V

Then the species undergoing disproportionation
is

(D
(2)
3
4)

BrO;
BI‘2

BrO;
HBrO

(58!

84.

85.

86.

'@gemD@@m @rerLmd euens ollevarsaflen giflwimer

Coumiuim(h eresrLig,
1) s aws cdomadar i@y ampel [Al,
MBS (HSSTS; G rerLmbd euens edenarullen
<oy eumpey [Aly smibdlmEED

Gl
cllemamy,ssiL(HSSid;

2) QUMS oSlenerTen L

@UeTLmDd U
cMenarerw eflenar,sslil(hss @ uieng
PFD cllanerullcor

cllemarLi(H LG Lumetlesr

alenarGausLd
Qedeney

FTIHS(HESTFH; @remmd euens ellaperudler

3

olUeh &

damarCGeusd alevaru(Eummeier Cgdleneu
FMhS) (H&E D

s s  elenarulden
clenaru( Qumpefler CQadlency Fmibd (HEELD;

(4)

NenerGousbd

@uearLmb-eueams elevanuier  cllamarGougsd
clenaru(y Qummeier Gedene FTip(HEETS

CaH,, BeH,,

ueT Qe euflenswimeng

(1) CaHy <BeHy < BaH,y

(2) BeH, < BaH, < CaH,

(3) BeH, < CaH, < BaH,

(4) BaH,; < BeH, < CaH,

BaHy o dlueupdaper SwefL

EpaarTcubbled erdleb B [OEEEN e
craenilsans dsLL Forl @HEGD ?
(1) 0-18 g fMed
(2) 1atm wopmib 273 K e 0:00224 L $rir
< 6lufled
(3) 18 mL ffed

4)
&G

1073 Cuored Fifled
o grer srliquimring  Gumed
HCrm et e

LTHDSES

uLSSHed
GeueuCGoumy emf  Flyew
2 58nCardm  FHleveuler  gHU@D
shSHed Qamarrmed :

- 182V - 15V
BrO, — BrO3 ——> HBrO

Br

10652V 2 1305V
flzs famgea|sE o dam@h 2 nliLTearg
G-

(1) BrO,

(2) Bry

(3) BrOg

(4) HBrO
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88.

89.

90.

CN*, CN~, NO and CN

Which one of these will have the highest bond
order ?

(1) CN—

(2) CN*

(3) NO

(4) CN

Which one is a wrong statement ?

(1) An orbital is designated by three quantum
numbers while an electron in an atom is

designated by four quantum numbers.
(2) The electronic configuration of N atom is
1s2 2s2 2p)1( 2p}17 2pi

) LAt

Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.

3

(4)

The value of m for dzz is zero.

Iron exhibits bce structure at room temperature.
Above 900°C, it transforms to fcc structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

3

£

(1)

2) 33

3

(4)

o sl 2 2

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 1s2 252 2p3, the simplest
formula for this compound is

(1) MgX,

(2) MgyX

(3) MgyXs

(53

88.

89.

'é@g%uqasmm T (HSHEQSTETLTED

CN*, CN~, NO wpmib CN

oTg et Sifswrear WaariLgsrsams 2 aLwg ?

(1) CN™

(2) CN*

(3) NO

(4) CN

T8 RO SeUpreT sy ?

(1) @ <ML LT ppeTn GeUTETLLD CTERTSETTE)
GSMUALLUGEDg <pulepid e Siamiellen
RM  TOeslyrear  BIETE — (GeUTETLLD
erasermed @GN tiu@Epg.

(2) N igmeiphE 2 drer rlesLrmem jenLoLiLy

162 252 2P} 2py 2p,

‘s’ ML Lmeled 2 @rer eTElevdsL_rmestl 6o

Qrss <}, Lmed Camemr 2 hsLb

LOWSSHE& Fmi o 6rerg).

dzz 6 m SN LSHUIDTL 2 GTeTg).

6))

4)
s  CQeutiubleneoudied @ emib bee  janolienL
2 aLwigl. 900°C m@ Cuwéd =g fee ewLlDHE
900°C  uWiguib
@mbler oLsd ehdlswrerg (@mbiler Guomem
Bleopuyd OHMD e FL  CQeuliibleraenu
QummSE LIDTE @EHLILSTES QSTETLTE)

ormib.  Sen  CeuliubleasEb,

(1)
2

2 8

3

(4)

sl g gl

Qusatflwbd em seafwb X) o Ler fear Lfbg
am Sweall Caibsms o (Haums@bd. (X) e
g)rrgpﬁﬂemw GTE&L_IITET < eMLOLILITES) 152 22 2p3
erafled, &G TSSHetm eraflanLowimen eumillILITL_Temg
(1) MgX,
(2)  MgyX
(4) MgsX,
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92,

93.

94.

95.

96.

97.

liquid nitrogen having a temperature of
(1) -80°C

(2) -196°C

(8) -120°C

(4) -160°C

Oxygen is not produced during photosynthesis by
(1) Nostoc

(2) Cycas

(3)  Green sulphur bacteria

(4) Chara

What is the role of NAD® in cellular

respiration ?

(1) It functions as an electron carrier.

(2) Itis a nucleotide source for ATP synthesis.
(3) It functions as an enzyme.

(4) It is the final electron acceptor for anaerobic
respiration.

Which of the following elements is responsible for

maintaining turgor in cells ?

(1) Sodium

(2) Potassium

(3) Magnesium

(4) Calcium

Which one of the following plants shows a very
close relationship with a species of moth, where

none of the two can complete its life cycle without
the other ?

(1) Yucca
(2) Banana
(3) Hydrilla

(4) Viola
In which of the following forms is iron absorbed
by plants ?

(1) Ferrous
(2) Free element
(3) Ferric

(4) Both ferric and ferrous
Double fertilization is

(1) Fusion of one male gamete with two polar
nuclei

(2) Fusion of two male gametes with one egg

(3) Fusion of two male gametes of a pollen tube
with two different eggs

(4) Syngamy and triple fusion

t9§| ) §Ug_|m bl regefled

92.

93.

94.

95.

96.

97.

& THSSH SIS ETSHE 6T LI6»
gamhsar  Collsg  meuss Quaib  sSlTe
By el Hlae

(1) -80°C

(2) -196°C

(3) -—120°C

(4) -160°C

@Qaundlen  gaflsCarsamsulen Curg <y sebdlaer
QeuafuilLLiLi(Heudlebemev

(D
(2)
3)
(4)
Qe seurdlgsedieo NAD™ 6 Linis, ereres ?
(D
(2)

BrevL &

NFHED

L&D FOUIT Umdleflurdger
SIT[IT

<5 aCeslgrer sLgdwns HgwduBng.
<5 ATP surflude @ HluselCuran @

eLpeULD.
3) =g en Aprdwurs QewduBSng.
(4) <5 smpPloor  seurssdd  seLblae

erQevgyme ermiql.
EpsarLeupmer  erssaflod  CQedsaiey  ellenmiiy
urrofli@er QurmtiCupdlpg ?

(1) Gamgqwid

(2)  QumiLmdlwib

(3) waafdlub

(4) srofwub

EDFEATL  THS STEUTBRIGEHET  Q6Tm,  ABSIL

ussluflenr e Spdlasgier Qpmmilus Cgmy
QaremgpriLsamed, eerhlerdl HEDTEM Serg
aumpsams s&pHfew Hlame| Qg Quievrs ?

(1)
(2)

Wpb&T

QUITEnLD

3)  ewan Méer

4) eeuCurem

Epaetr_cummler THS Hlenavsaled
sreurmigerTed Hrdssiu@Sng ?

(1) Qurmev

(2) s @pr saflbbd

(3) Qumis

(4) Qumils wHmb QuiFev @) rer(HILb
@I LS S(HEYMIFED 6TeTLIg

1) @m ar @Qarg G,

2 I H(H&&EHL6T @)amenTelg)

@ e Qeard CFOsT @ ASTLSFIL 6
@eeanreug)

DETHSE Gpeler @ e @ers Cgdser
@ Coum 1 eHTL_kigEHL6T @)enanTelg)

2 aeowner ShHemsd (HAarGasll) whmid
epellanemtay

QL

Qm  simeu
(2)
3)

4)
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99.

100.

101.

102.

103.

company, though such varieties have been
present in India for a long time. This is related to

(D
(2)
3
4)

Sharbati Sonora

Lerma Rojo

Co-667

Basmati

In India, the organisation responsible for

assessing the safety of introducing genetically
modified organisms for public use is

(1) Council for Scientific and Industrial
Research (CSIR)

(2) Research Committee on Genetic
Manipulation (RCGM)

3
4)

Indian Council of Medical Research (ICMR)

Genetic Engineering Appraisal Committee
(GEAC)

Which of the following is commonly used as a
vector for introducing a DNA fragment in human
lymphocytes ?

(1)
(2)
(3) Retrovirus
(4) pBR 322

Use of bioresources by multinational companies
and organisations without authorisation from the
concerned country and its people is called

(D
(2)
(3)
(4)

Ti plasmid
2 phage

Biopiracy
Biodegradation
Bio-infringement
Bioexploitation

The correct order of steps in Polymerase Chain
Reaction (PCR) is

(1)
(2)
3
(4)

Annealing, Extension, Denaturation
Denaturation, Extension, Annealing
Extension, Denaturation, Annealing
Denaturation, Annealing, Extension

Select the correct match :

(1) F5 x Recessive parent — Dihybrid cross

(2) T.H. Morgan — Transduction
(3) Ribozyme — Nucleic acid
(4) G. Mendel Transformation

fod

99.

100.

101.

102.

103.

@g:(g%u M& BaEd gl Bl sreb @bSHwrele

o aretGurgId @@  Ceuelipri(h  Hlneuarssme
sriyflepn QUL (HETeTgl. g

(D
(2)

giudl CenCGerym
Qevirom Grmegm

(3) Co-667
(4)  urswd
gpglureile, LOTYOMHHLD T
o Wiflertsefler  urgismiewu  wHIIH Qg

Qurginssefler LweTUT 14H&E DD WPSD CFiw
Qumrmtiy audlE@n Hlmieuerd

(1) <ofellwe whmbd CAsmAbsrt D uie ssTer
&widb (CSIR)

Y, (T Quimmeir

< yrEdls g (RCGM)
@ndwureiler WmHESFH UITUEHE  GHPLOD
(ICMR)

wryl Qurlulwe wdHinie K @ (GEAC)

(2)

A& WIME@HEISMH &S Mer
3)

4)

Epsaeupmer wafls SlbCurans Ggdald ¢
DNA giam_seng = I CQeaiss Gurgieuns Liweru(Hib
sLg ergl ?

(1) Ti GermevS(®H

(2) A CGug

3) QrGrrenaureiv

(4) pBR 322

uererm(h  HmeuaThigEeT erenerwl Brliger o udlf
GUETRIGENETWLD, BiF6eT  LoSSaeTLd GCsmLimenLw
Brlger seodudendl vweTu(Bdgeug Geueumn
SP&sLILOSng

(1)
(2)
(3)
4)

o Wiiemt Sl
o Wfsermed Hensssa
o Wllirgmi SiSgIBmed

o WSTEmT SiyetTL_ed

uredGrev  smded  eSleveruller
Blevavsaflen sflwmear cufleng

(1) ugemhpd, Srfynsed, Quayfamssd
(2) Queyflagsd, B Auymsd, Lugsamhmed
(3) Briuymsd, QuedLSHlamssd, LsaTTHDED
4) Queyfassd, ugarmdme, Hrdumnsed

(PCR) ug

Fflwrss Qur@pssiulLagss CarbosHsse :

(1) Fyx @OhmEueary - QouerL sl
QupCmmir

(2) T.H. wrrser

(3)

4)

- mearanflen wTHDLD
- Hlusels @i
- @Queéwmhobd

ayGUre&Ld
G. Qe

Honh@adgdsFrom © ht t p:
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105.

106.

107.

108.

109.

(D
(2)

the physical space where an organism lives
the range of temperature that the organism
needs to live

3

all the biological factors in the organism’s
environment

4)

the functional role played by the organism
where it lives

Which of the following is a secondary pollutant ?
(1) COqy

(2) SOy

3 CO

(4) Og

Natality refers to

(1) Birth rate

(2) Number of individuals leaving the habitat

(3) Death rate
(4) Number of individuals entering a habitat

World Ozone Day is celebrated on
(D
(2)
(3)
(4)

215 April

16 September

5% June

2274 April

What type of ecological pyramid would be
obtained with the following data ?

Secondary consumer : 120 g

Primary consumer: 60 g

Primary producer: 10 g
Pyramid of energy

Upright pyramid of numbers
Inverted pyramid of biomass
Upright pyramid of biomass

(1)
(2)
3
(4)

In stratosphere, which of the following elements
acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(1 Cl
(2) Fe
(3) Carbon

(4) Oxygen

g,

105.

106.

107.

108.

109.

' @(_I:GQLII‘IJWFEJ@ GGG

(1) 2W¥femd grer  eumepd 2 wiflud wHmID
o lflwe Hlaeseldar aiFms LweTLHSSHID
cllgLd

o uiiflard  eumps Comeuwrear s LGl L
ei&a

o Wiflersden aHm @Gpedler 2 6Tem SameTss)
2 WMwed whmid GuinGwed srrenilser
2 e QUT(PLD @Lsde

Qewdur_Hu LkiE

(2)
3

(4)

S\Gem

EpsarLeupmier @rearrLmd Hlee e erg ?
(1) CO,q

(2) SO,

3) CO

(4) Og

BT (D eIl Tangd (&l @

(1) Qpuy 9dsn

(2) @m anfisms LG BreEbd
2 Wirgeflen erewrentlsenas

@puiy aldlsb

em arfisded ygb geall 2 ulisefler
crarenfilEens

itz

3
4)

2 & eGamer fard QsrarrLriL{Belg
(1
(2)
3
4)

21 erLiyed
16 @&l b

5 aSan

22 erriyed

EpsarL sreyselcd(hhgl ereleuamaWTear @Gpblaad
gnbl Qupliu@®b ?

@nermb Hlene misTCeurt : 120 g

Wz Hlave msTGeurt : 60 g

s Hlewe 2 pusHwmert : 10 g

OO & lDL

Crymen eramentlsangs gnlbl

(D
(2)
3
4)

2 urQUmmHET SmeED FnlbL
cuullriQurper Gprmer gnibly

EpaairL safwrigefd evl_ Gy GLmevi@uwifled
@Gamar  favglle elemarysdurs  GFuoul ()
epEanm sedlemer CeuellliLL sryeuroTelg) ergl ?
(n <

(2) Fe

(3)  smiruer

(4) <y sadlsmen
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111.

112,

113.

114.

115.

116.

matched ?

(1) ABO blood grouping Co-dominance

(2) XO type sex Grasshopper
determination

Multiple alleles
Linkage

(3) Starch synthesis in pea
(4) T.H. Morgan

Select the correct statement :

(1) Punnett square was developed by a British
scientist.

Spliceosomes take part in translation.
Franklin Stahl coined the term “linkage”.
Transduction was discovered by S. Altman.

(2)
3
4)

The experimental proof for semiconservative
replication of DNA was first shown in a

(1) Bacterium

(2) Plant

(3) Fungus

(4) Virus

Select the correct match :

(1) Alfred Hershey and - TMV
Martha Chase
(2) Matthew Meselson — Pisum sativum
and F. Stahl
(3) Alec Jeffreys — Streptococcus
pneumoniae

Francois Jacob and

(4)

Lac operon
Jacques Monod

Offsets are produced by

(1) Mitotic divisions

(2) Parthenocarpy

(3) Meiotic divisions

(4) Parthenogenesis

Which of the following flowers only once in its
life-time ?

(1) Jackfruit

(2) Mango

(3) Bamboo species

(4) Papaya

Which of the following has proved helpful in
preserving pollen as fossils ?

(1)
(2)
(3)
(4)

Cellulosic intine
Oil content
Pollenkitt

Sporopollenin

134,

111.

112.

113.

114.

115.

116.

: %!;gl_ dETSHEND FSeumrsL: QUTHSGSLIILIL L
& 6 B ®5 gl

orgl ?
(1) ABO @ss cuans : @enent ghi@ESeTEnLD
(2) XO eauens umed Hliremruibd : Ceul [H&dlafl

(3)  uLmenflufed D UOsL () SIS adsaET
578 2 HLSS
T.H. wrirgmer

(4)
Fflwner sapenp CaMbOSHESD :

(1)  yeer sgyb @ UM G 6u ojHledlwied

SN EHTTED 2 (HeUTSSLILIL L g
avliemedCurGambser LgiGuwTiged
LIRS erme.

“Qevawriiy” eremm Qsmérened LweTUHSSH WeT
coLigmaigeflen avGLane.

miamantienL rHnSms SHewm(H Ly SHeu

S. e Goetr.

: QenamriiLy

(2)
3
4)

ugd urgisrssiiul L DNA psorsssder <,iie]d
Fmernl (WPSedled SPluiL’ L g erdled ?

(1) ursefwb

(2) smeuyd

3)  yeyans

(4)  emauryev

sflurst Qur@pdueretens CaibOsHEsaD :

1) <ol Ganirad) - TMV

wHmId wrrssT Caen

WIS, WBlEDFe LOHMID - eUFD FL L eULD

F. svCLamed
& QeaeLiflen

(2)
3) - WL QLG narssan
BElIGreflGuw
(4)  ugremsmiey Coal - @rd @uUTTET
wHmib Ceyd wmemm
‘Do oL1QF &6 @sarmed CorermSlng
(1)  @empmbd LGLILgEeT
(2)  smeyprs saflwunsed
3) @emwéd LGLYSET
4)  s@aipT QargCanpod
Epsareupmer serg eumppreailedy Cr @@ wparm
LU B weeugl erg ?
(1)
(2)
3)  eprdle Anderd
4) uwnumef
EDPSHT_cUDHMIET DETHSSSISETHEM 6T
Qsreougoors’ Cuapieudler 2 sl flujb ereruams
Hodsss gl ?
(1) QedguCamevmed ear s
(2) eramQenTi QsmerTig(HLILI
3) CGumevendl
4)  CurGrm@umed el e er

Lievrm
Lo
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118.

119.

120.

121.

122,

123.

produced by
(1)
(2)
(3)
(4)

Plants having little or no secondary growth are
(1
(2)
(3)
(4)

Sweet potato is a modified
(1
(2)
(3)
(4)

Pneumatophores occur in
(D
(2)
(3)
4)

Casparian strips occur in
(1)
(2)
(3)
(4)

Vascular cambium
Phellogen

Apical meristems
Axillary meristems

Deciduous angiosperms
Conifers

Grasses

Cycads

Adventitious root
Tap root

Stem

Rhizome

Free-floating hydrophytes
Carnivorous plants
Halophytes

Submerged hydrophytes

Pericycle
Cortex
Epidermis
Endodermis

Which of the following statements is correct ?

(D

Selaginella is heterosporous, while Salvinia
is homosporous.

(2)
(3

Horsetails are gymnosperms.

Ovules are not enclosed by ovary wall in
gymnosperms.

(4)

Stems are usually unbranched in both
Cycas and Cedrus.

Select the wrong statement :
(1)
(2)

Mushrooms belong to Basidiomycetes.

Pseudopodia are locomotory and feeding
structures in Sporozoans.

3

Cell wall is present in members of Fungi
and Plantae.

(4)

Mitochondria are the powerhouse of the cell
in all kingdoms except Monera.

b,

118.

119.

120.

121.

122,

é@e@éﬁmmg STeUrS Semiqed @eRTLmid  Hlane

&b WHmIb LEeTTwLD 2 (Heums@eug

(1)  eurev@geort ss5dle

(2) uleL ys5s5da

3) meafl ysa555

(4) Csranr 55555

@rermd  Hlevew euerrélenws APl jeredlGeor
g pHNaID @eramGar 2 6Ter STeuFhiseET
(1) @eouydlit UsEb STermhiseT

(2) Csrafls.Quirger

3)  ymser

(4) ogslser

srgsareleTefls &lpmdld rHnimeurs @) mLLIg

1)  Ceupml Geurr

(2)  <efll Geurr

3) sa(

(4) vl flogsear®

saurs Caulser srentliLi(houg

(1) selsg BsseEb Bissreurhisar

(2) uysSHyemamid STeuFmhIGeT

(3)  sziiy Hlog smeurmiser

4)  eppdu sheve Birssmeurniser

STeLLTHWET LI L &6T smewtliu(hieug

(1)
(2)

Quilengsdler

Ly emf]

3 uywsCsmed

(4) =55Csmed

EpasarL ampmsefld Fflwnsrgy org ?
(1)  Qeargltlardar @ msse auaswd
srevaiailur enfde cuamaswywrs o drarear.
(2) @Hegeurd Quyanfilser eramLima
b Carma Gl LITDEET p,ene.

(3) HwGammev@uirbseidy @GEO&SET @G5
sauflamed @GpriuLeldame.

(4) sseav LHYID Gl Fav Sl @ TeirigaLd
samT(Hser Qurgeunss Haersdmuuddeame.

123. seuprer smpevp CorbOsHSSeD :

1) prus@eL s srarmearger CuiqCuimenndl
au@Llienu GCarbgsanal.

(2)  CurCrm eamrsseld QUTUIGSTOSET
@LUGuwie| HHLD 2 el L
SEMLOLILSETTS 2 ETEITET.

3)  yepamaser LHMID WermeaTGL <&l weubhmieT
Qedaeulr 2 drerg|.

(4) Cuafyr seliigg wHn Curyaseid

awl GLrsrerflwniger Ggaaler < mmed
GLOWIThIGETTE 2 GTETE.
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125.

126.

127.

u%n I Wth %hepe

Column II and select the correct option given
below :

Column I Column II

a. Herbarium i. Itisa place havinga
collection of preserved

plants and animals.

b. Key A list that enumerates
methodically all the

species found in an area

i.

with brief description
aiding identification.

c. Museum iii. Is a place where dried and
pressed plant specimens
mounted on sheets are

kept.

d. Catalogue iv. A booklet containing a list
of characters and their
alternates which are
helpful in identification of
various taxa.

a b c d

(1) i ii i iv

(2) ii iv iii i

3 i iv 1ii ii

(4) iii iv i ii

After karyogamy followed by meiosis, spores are
produced exogenously in

(1)
(2)
(3)
4)
Winged pollen grains are present in
(1)
(2)
(3)
(4)
Which one is wrongly matched ?
(1)

Alternaria

Agaricus

Neurospora

Saccharomyces

Cycas
Mango
Mustard
Pinus

Biflagellate zoospores

Brown algae

(2) Gemma cups — Marchantia
(3) Uniflagellate gametes — Polysiphonia
(4)  Unicellular organism — Chlorella

rt

al
124

125.

126.

127.

.com
. Spsar_eupmer Fflwrer edeLmws Csrbos®Hss

Qzred I wpnibd AsmEd -5 Qurmss er(gis :

Clar@d 1 Clargdl 11
a. 2 @ff L ugliu@SSIULL Sreur
sTUrSQsTEUY  wHnib elleni@ Cgm@LriyseT
Qsmapr_ @LLb.
b. SpeyGared . @flLgdlé srewriu(bd

Simandg Hbbleriseter
F(H&sLTET elleufliiyL e
Fnlq W euflenaddlrLomes
SETLMSNEE 2L Ll Ig.
2 @EH S(PSHIILIL L
sreuy wrdfsdr grafled
UL Uul(h emeudsli(hib
@LLb.

LOCeum Lr&smenaeaner
seTLHlw 2 Fa|ib
LIGTLSEeTW D <6 mHmlebr

C. OmEST.Swsiii.

d. ol Leuement iv.

LD ))& EDETU|LD
Ul quedl it L g Sl
LSSHLD.
a b c d
(1) i ii i iv
(2 ii iv iii i
3 i iv 1ii ii
(4) i iv i il

avGurirger sTRGLTsTS CQgTLibg @O&sHIAMaey
Qeuafitiyyons Gamemmieugl eTdled

(1)
(2)
(3)
(4)
DGO STHSSHSETHET SranrliL(hougl
(D
(2)
(3)
4)

oTg SeuprsL QummSsLILIL (HeTerg ?

<L irGerilum
D& miflsan
Bl Crmev GLmym

F155CrTenoSen

MNFHGV
DT

s0G

M LIGITGI

1) @m smslienyp - ULPUIL S DSTESET
GeGumi

(2) Qgwr Camueuser - wmigrerdum

3) ghens swsulley - urallang.>Cureflur
G0 _(haer

4)  em Qg 2uif - &Germllyebeur
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%\Nr:ilhg qgg dfufcl;l&m :gIQLI;tS Y (.:h/a[agtpr%s%p OOE' tl%. ) &ggasryqa;@ﬂ a1 @ Apriurer clears6gr@dsdr

sugars are (1) sriumered wHHID G

(1) carbonyl and methyl (2)  sriumerd wHHID LTeLCUL

(2) carbonyl and phosphate (3)  eanl gr&sld whmibd G

(3) hydroxyl and methyl (4)  srrUMETD WHHID anL FT&ESd

(4) carbonyl and hydroxyl 129. Epsarieupmer gelsCaismauien gafl aflanaruder
129. Which of the following is not a product of light efleanlLmmar Sjevevnsg erg) ?

reaction of photosynthesis ? (1) NADH

(1) NADH (2) NADPH

(2) NADPH (3) ATP

3) ATP (4) Oxygen

130. Epsareupmer LCrmamNCuITL Syebevrss et ?

(4) ~ Oxygen (1) ewsCsmunsieflui
130. Which among the following is not a prokaryote ? @) prevLrs
(1)  Mpycobacterium (3)  srdaCrreniodon
(2) Nostoc 1) oG mwr
@) Saccharomyces 131. Qoasgmer QuEsD @sanmed LTSHILML audlsame
(4) Oscillatoria (1) gef
131. Stomatal movement is not affected by (2) 0, Gedlay
(1) Light (3) Qeuiu Hleve
(2) Oy concentration (4) CO 9 Qs
(8)  Temperature 132. Csréas 2 piiysar @eupde LrGshelemmen
(4) CO, concentration 1) s0y @used Camemse
132. The Golgi complex participates in (2)  umsefNurssaier seurélgza
(1) Formation of secretory vesicles (3)  Gamyuy Sfle dogsse
(2) Respiration in bacteria 4)  2ulGerm oyfle Gaw@rssb
(3) Fatty acid breakdown 133. Spsam_auppier 2 g (pLoan] GIEES ergl

(4) Activation of amino acid gilumeng ?

133. Which of the following is true for nucleolus ? (1) C(_T)@J @@j _%UGLI SR _&mml‘{l‘l' ]
(1) Itis a membrane-bound structure. (2) @D"Cn_mr“_*w Gap Corampiaugled Lk
(2) It takes part in spindle formation. audlsdlempar.
(3) Larger nucleoli are present in dividing cells.
(4) It is a site for active ribosomal RNA
synthesis.

3) usuy peoLCumpd  CQeoseild  Guw
o " speanilser sreurliLhdlerner.
(4)  erCunGsmd RNA swmflider seribd.
134. Gomg Caibgs @585 GCrrGwrCembsedr 19w
Y T&@ED Hlana
1 guCermess

134. The stage during which separation of the paired
homologous chromosomes begins is
(1) Diplotene

(2) Diakinesis (2)  eLwrmseaSlen
(3) Pachytene (3) urdieer
(4) Zygotene 4)  @sCsmea

135. Stomata in grass leaf are 135. ymsafler @aneggiamarser
(1) Kidney shaped (1) Agdrs eugeurars
(2) Rectangular (2) sgiywreng
(3) Dumb-bell shaped (3) 2 (éms cugeuTaTg)
(4) Barrel shaped (4)  Suumd eugeurerg

Bovh@adgc, From : http: /7 eheeraidodb RGN Courtesy ggilNER]


https://aglasem.com
http://cbseportal.com/
http://cbseportal.com/

i QAd&d LMy L kRa b cbsepor

137.

138.

139.

140.

141.

DNA and RNA
Nucleic acids and SER

Proteins and lipids

(D
(2)
3
4)

Free ribosomes and RER

Which of these statements is incorrect ?
D
(2)

Glycolysis occurs in cytosol.

Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atoms.
(3) Enzymes of TCA cycle are present in
mitochondrial matrix.

(4) Oxidative phosphorylation takes place in

outer mitochondrial membrane.

Which of the following terms describe human
dentition ?

(1) Thecodont, Diphyodont, Heterodont
(2) Pleurodont, Monophyodont, Homodont
(3) Thecodont, Diphyodont, Homodont

(4) Pleurodont, Diphyodont, Heterodont

Select the incorrect match :

(1) Allosomes — Sex chromosomes

(2) Submetacentric — L-shaped chromososmes
chromosomes

(3) Lampbrush — Diplotene bivalents
chromosomes

(4) Polytene — Oocytes of amphibians
chromosomes

Which of the following events does not occur in
rough endoplasmic reticulum ?

(D
(2)
3
(4)

Protein glycosylation

Cleavage of signal peptide

Protein folding

Phospholipid synthesis

Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide

simultaneously. Such strings of ribosomes are
termed as

(1) Polyhedral bodies
(2) Plastidome

(3)
(4)

Polysome

Nucleosome

1136, - S0,

137.

138.

139.

140.

141.

2 miliysarfled QupbUTETEMLWITS
srenrliL(heugl

(1) 1g.6T6br.cr. LOHOLD <7 6TEH. 6.

(2) Puseais sdlen wpmbd SER

(3)
(4)

emeu(md Fmpmiseied Seuprerg org ?
(D
(2)

YUSmsEr whHod Sliamaser
saiss eyGurCeambser womb RER

Sanerarallflev engl CLmaradler Blapdmg.
manl rmer  iamis@&et gn@bd NAD  &ser
Qm&ED Uy SaeramedlFlen Flspib.

(3) TCA sypnéluler Qprdlser anol L mameirigfuim
wrfgefled 2 drarg).

4) yp ewlLrsramgfur Feuslld <p&HCL L 1qe6
umeUmiGeager HlapLb.

wafls Ldaeamwlienu edeard@h @GNs6r wramel ?

(D

$&CaHTLTET, elooenuCuimLmesL,

Gam 1 Crmmer
(2)  werGrrimer’, GuorarmepuGuimLmer,
CammCGromL_mebri”
(3) S&CasrLnmen, enLo.eruCuimmesL,
CammCGomL_mebr_
4  yepGrrimer, el o.anuGuimmel,
Gam 1qCrmmer
seupns Qummpbdlujerer @eaeamanw CarHsH :
(1) <0GenCGambser - Lmed
&CrmGurGamibaer
(2)  &p Qo rQeengfs - L- cugeu
&CrrGLrCamibaer &CrrGrCad
(3) embrinyev - g LiCermie 6t
&CrmGurGambaer auGeuear(HaeT
4)  ureen - @meurpaisafiar
&CrrGrCamibaer oaren &L (&6

Gereumd erhg Hlaspey Qaryleryiunmea slbarms
cuamafararelled (RER) flspeudlsvsnsy ?

(@)
(2)
3
(4)

4rs faerCasrflenssnd
Ghleng QulienL(haefler ety
LIS gy

ureGuTElLIA® 2 (Heurssid

ueulg  urdl@uiien (Bsemer @Gy  FowsHed
2 meumss e enyGurGembser g MRNA e
@aewryb. AssmsL Gsrii erGurGsambsafer
Quuwir

(1)
(2)
3)

4)

urelGanL e 2 miLiL|ger
Wermevig CLmbaer
uredlGambser

Bl sefl CurCambaer
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143.

144.

145.

146.

(D
(2)
3
4)

structural genes
an enhancer
an operator

a promoter

A woman has an X-linked condition on one of her

X
inherited by

(D
(2)
3)
4)

chromosomes. This chromosome can be

Only sons

Only grandchildren
Only daughters

Both sons and daughters

According to Hugo de Vries, the mechanism of

evolution is
@)
(2)
3
(4)

Saltation

Phenotypic variations
Multiple step mutations
Minor mutations

AGGTATCGCAT is a sequence from the coding

strand of a gene. What will be the corresponding
sequence of the transcribed mRNA ?

(1) UGGTUTCGCAT

(2) ACCUAUGCGAU

(3) AGGUAUCGCAU

(4) UCCAUAGCGUA

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column II

a. Proliferative Phase i. Breakdown of

endometrial
lining

b.  Secretory Phase ii. Follicular Phase

c.  Menstruation iii. Luteal Phase

a b c

1 i iii ii

(2) i iii i

(3) iii ii i

iii i ii

(4)

—

13,

143.

144.

145.

146.

ﬁaga%mmwmym eurmGarm@® CsTLTuHDS
ergl ?
(D
(2)
3
(4)

S{ELOLIL| LDFLIGD)
o WSS wruam
@Qu&E WL
Qeweu(® Wy

) X  @CmGwrGsmie
X- Qevewriiy Cpmuilp@fu sryanflsear o arerbgeaflad

QuerenflamienL_wl

Sgmar (Hs5S swawpanuild QumueTse wrr ?
(1)
(2)
6))
4)

LO&GI&ET L (HLD
GumQérenarger L (HLd
LO&GETSHET WL (HLD

LD&EHT LOMHMID DSETEET

abwGar 14 efifev L ufewrmogHer Qawdpa
wrgl ?

(D
(2)
6))
(4)

FTOGL ageEET

UoCsmhm wrpuTH&Ser
e Ugblene SlleMpmbmhiger

Alwerey Hiemombhpriser

@@ Safdar @hlpen @Qawpuile o dmer euflams
AGGTATCGCAT erafled, LigQuBssiiur L. mRNA

el syger Qariyeaw eauflens erg) ?
(1) UGGTUTCGCAT
(2) ACCUAUGCGAU
(3) AGGUAUCGCAU
(4) UCCAUAGCGUA

Epasam_cupmer Fflwrer e aws Csrbls®Hss
Qzred I wpnibd Asr@d -5 Qurmss (IS :
Clsr@dl 1 Clargdl 11

a. Qu@mss Hlara 1. eramCLmQuor Mw
UL Haossed

b. &r&@Gb Hleave . coumed@emit Hlene

C. mgedlLmu iil. @i igwied Hlanew

a b c
1 i
(2)
(3)

4)

iii ii

ii iii i
il ii i

il i ii

RO QA& Fr om
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Court esy gngidNERL


https://aglasem.com
http://cbseportal.com/
http://cbseportal.com/

Mh?c%d eoqe FI(’)fO ni]he h%oh(gv:h{g/ C}Qﬁlﬁﬂggﬂ

148.

149.

150.

151.

interactions is widely used in medical science for
the production of antibiotics ?

(D
(2)
3
4)

Mutualism
Parasitism
Commensalism
Amensalism

All of the following are included in ‘Ex-situ
conservation’ except

(D
(2)
3
4)

Sacred groves
Botanical gardens
Wildlife safari parks
Seed banks

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column 1 Column I
a.  Eutrophication i. UV-B radiation
b.  Sanitary landfill ii. Deforestation
c. Snow blindness iii. Nutrient
enrichment
d. Jhum cultivation iv. Waste disposal
a b c d
1 i iii iv ii
(2) iii iv i ii
(3) ii i iii iv
4) i ii iv iii

In a growing population of a country,
(1) reproductive individuals are less than the
post-reproductive individuals.

(2) reproductive and pre-reproductive
individuals are equal in number.

(3) pre-reproductive individuals are more than
the reproductive individuals.

4)

pre-reproductive individuals are less than
the reproductive individuals.

Which part of poppy plant is used to obtain the
drug “Smack” ?

(D
(2)
3
(4)

Latex
Roots
Flowers
Leaves

—

134,

148.

149.

150.

151.

" LO(FHS

GO 8 weie AT UWITLI4E  LO(HhGISET

swrflés ereucuamsuUTar @QearsCdstans 2 nejipern
vweruGS g ?

1) vdipsipey

(2) gl (eaweni 2 ey

(3)  urdmahs 2 ne|

4) efar 9Pe @miLamil 2 naj
emeu(meuareupmer ‘CeupdlL LimgismLiLy
(PDDLDVTSS oTgl ?

(1) Garelldh srhHser

(2)  smeureilwed LmisT

(3)  euar cllwmig Fooimfl LmisT

4) eumg aund

Epsaeupmier eflwrer e mws Csib0sbHEg
Qzred I wpnibd Asm@d -5 Qurmss (s :

s 1 seid 11
a. Wl (Cym.96Csageri. UV-B sl eige
b. fiLsfe) Qasrear@®  ii. sTLHE5®
smpayflasems
Broyse
c. uafl GmoH iii. oer’ L L@Um(RET
WevgemLo
d. b LB iv. sfla) Coerarento
a b c d
1 i iii iv ii
(2) iii iv i ii
(3) ii i iii iv
(4) i ii iv iii

(1 BTL_Ig.6 GUET(HLD a0 Smangsudled
(1) Yer Qer@umss Hlaveuld o drer BUTGmET
A @ar@umss Hlaveulled o dter BLITHET
&Y.

@artumés Hlapeudled o 6ter BLITHEHD (LPEiT
@Qartuméss  Hleveulldr o @Tar  BUITSEHLD

FIOLDMTE 2 _GTETEUTIT.

(2)

3) @eaCumss Hlaeuid o érer BUTGmer 6L
e @atumss Hleveuld o eTem HLITSET
SSGh.

@artumés Hlevauded o eer mLITGMmeT 6L
wer @Qartlumes  Hlaeulle o eter  BHUTEET
Gohey.

umind Qegufer erhs LGS “evCws” erarn Cumans
w@Ebag sWmhés LweatuhEng ?

(D)
(2)
3
(4)

(4)

Cevl_L_&ev
Gaurrger
DG ITHGT
@6
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153.

154.

155.

156.

157.

divergent evolution, select the incorrect option :
(1
(2)
(3)
(4)

Heart of bat, man and cheetah
Brain of bat, man and cheetah
Forelimbs of man, bat and cheetah
Eye of octopus, bat and man

Which of the following is not an autoimmune
disease ?

(1) Rheumatoid arthritis
(2) Alzheimer’s disease

3)
4)

Psoriasis
Vitiligo
In which disease does mosquito transmitted

pathogen cause chronic inflammation of
lymphatic vessels ?

(D
(2)
3
4)

Ascariasis

Ringworm disease

Elephantiasis

Amoebiasis

Conversion of milk to curd improves its
nutritional value by increasing the amount of

(1) Vitamin A

(2) Vitamin By

(3) Vitamin D

(4) Vitamin E

The similarity of bone structure in the forelimbs
of many vertebrates is an example of

(D
(2)
(3)
(4)
Which of the following characteristics represent
‘Inheritance of blood groups’ in humans ?

Analogy

Convergent evolution
Homology

Adaptive radiation

a. Dominance

b Co-dominance

c Multiple allele

d. Incomplete dominance
e Polygenic inheritance

a,bandc
b,d and e
b, cand e

a,cande

—

184

153.

154.

155.

156.

157.

uflemrmosdhE QarHésriu L
T(BSg6ET_(Haafler Saupmerg ergl ?

(1) eucuaeunéd, wallger LHMD FssTaller @swib
(2)
3

cueuareumed, weaflger wHmD ESsredlen epaner
waflger, — eueuaeUT®  WHMID
(LP GOTGOT TRl & 6D

Eggmeller

(4)
19 6breu (T 6L evT6u H M GiT
9J6V6v ?

(D
(2)

QFLLIGD, eueLaTeUmed Hmib wefllseier sar

ag  ‘ser  erdiuy  Crmi
ML < rdanrig e

Sje&ir Grmu

3) Gamflwrdlev

4)  &NgelCar

e GBI Qaraalermed SLS3LILIHID
mamenuifulerme Hlawr prethlsefey BreTuL L
<2loHé gHUOSSEE ?

1)  evsrMwurdlev

(2)
(3)
(4)
ured sullprs wrmb CuTg NFem 6l L §55 WS
ThE el L Ll jare| 2 wieugme Adlsflssng
(1
(2)
(3)
(4)
& Cs@blsefler (perarhisTadsat e
TIUEMWLILGGD 2 6Tem Hmiend THHE
TOSSGETL(H ?

(1) oemmes

(2) @elflene uMarmom
(3) Cammoregd

(4)  swe Ly
waflgafler @ rsseums
Nergs@Geugl etgl ?

Mieurd Grmi
6Te0ls s CLieiTiq Wil 6iv
S|Benuwrden

aeul L LOler A
eeul_LLBler D

eaul L 0er E

umpouflugens  sfilurs
a. Blenm Cuimmigea

b glenent Cumkised

c. L GO A650&aT

d. @opCurmisd

e ue wruay urpbuflub

a, b wpmid ¢

b, d wHmib e

b, c wpmid e

(4)

a, c Hnib e
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158.

159.

160.

161.

Hormones secreted by the placenta to maintain

pregnancy are
(D
(2)
3
4)

hCG, hPL, estrogens, relaxin, oxytocin
hCG, hPL, progestogens, estrogens
hCG, hPL, progestogens, prolactin

hCG, progestogens, estrogens,
glucocorticoids

The contraceptive ‘SAHELT
(1

increases the concentration of estrogen and
prevents ovulation in females.
is an IUD.

blocks estrogen receptors in the uterus,

(2)
(3)
preventing eggs from getting implanted.

4)

is a post-coital contraceptive.

The amnion of mammalian embryo is derived
from
(1)
(2)
(3)
(4)

endoderm and mesoderm
mesoderm and trophoblast
ectoderm and mesoderm

ectoderm and endoderm

The difference between spermiogenesis and

spermiation is

(1)

In spermiogenesis spermatozoa are formed,

while in spermiation spermatids are

formed.

(2)

In spermiogenesis spermatozoa from sertoli

cells are released into the cavity of

seminiferous tubules, while in spermiation

spermatozoa are formed.

3

In spermiogenesis spermatids are formed,

while in spermiation spermatozoa are

formed.

(4)

In spermiogenesis spermatozoa are formed,

while in spermiation spermatozoa are

released from sertoli cells into the cavity of

seminiferous tubules.

184,

159.

160.

161.

.cont . . o
spiajppere LFToflés Gerraermeumd &rdsiiuiHib

anmrGwrerser wreaey ?

(1) hCG, hPL, rreviqyege,
&S GLméleor

hCG, hPL, | GyrQegevr GL_megerr, Fraviqregesm
hCG, hPL, | Gyr@egev_GLmeger,
HCrmevmdig e

Neorssler, <y
(2)
3)
(4) hCG, yGyrQeev_GLmegewr, FrFavIgqTeg6H,
&@p&CHTETT g HM([H&SET

<

FmCanal’ eremDy H(HSSML FTHELD
(1) Quemsefled mevigrmer leTenel AH&MSg
S Gad Ceuaflurgame sHSSHDGI.

e IUD.

SHUMUUNQIETET Freivlg Taer eFbLdlsaner
waDEF SMHIPLel LFusms sHES.
HemTTged @, e LiwemLhiSsruBLD

H(HSSHEL_ FNGEILD.

(2)
6))

(4)

Lt iq serfler
ereupMed(mbg QamanryiiLGdng ?

(1) eramGLr@Lribd whmibd BCemQL b
(2)
(3)
(4)

&(HEd QI eiTer <y eflwime

BCer@Limb whmd HCyT.Cumiermevi
er&GLrGLmbd whpd BCem@LiTb

er&CLT@QLTD wHmib ererGLrGlLimb

e @ umAGuIrCeeflflevenis @
aQuTBlCueayasEh @enLuléd o crer
Coumiur(haer erg ?

(1) evQumnsCurCgealfevedia
av@uirol L rCFmeur&ser o (meumdlemmen;
aQuTSCuiageied ev6uTDmL g (HaET

2 (Heumdlemmenr
vQuTGurCsmeafsleveiicr GaTGLmad
Qeersafledmbg ev@umol CLrCareurssar

(2)

QeilaflCurey @ peflger

Qaueflliu@Serper; evG@uiTslCuiageied

avGuir CLTGemeurss6r o (heurdlermer
3)  evQumsCurbgealfeveldledr evGUTOMLIg (HaeT
2 meurdlemmen; 66 UTSIGuLeagefle
avGuil LT Gareunssdr 2 (meurdlenpes
QU GuirGsyefllevende

QUL L rCameursser o (peundlemmerr;

(4)

av@QuTSCuegaid ev@uirnl GLrGameurdaser
QaslafsCuren @Lpeflaer
Qauafli L@ & ermer
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163.

164.

165.

hormone ?
(1
(2)
(3)
(4)

Ecdysone
Estradiol
Epinephrine
Estriol

Which of the following structures or regions is
incorrectly paired with its function ?

(1) consists of fibre
tracts that
interconnect
different regions of
brain; controls

movement.

Limbic system

(2) production of
releasing hormones
and regulation of
temperature,

hunger and thirst.

Hypothalamus

(3) Medulla oblongata : controls respiration
and cardiovascular

reflexes.

band of fibers
connecting left and
right cerebral
hemispheres.

(4)

Corpus callosum

The transparent lens in the human eye is held in
its place by

(1)
(2)
3
(4)

ligaments attached to the iris
smooth muscles attached to the iris
ligaments attached to the ciliary body

smooth muscles attached to the ciliary body

Which of the following hormones can play a
significant role in osteoporosis ?

(1)
(2)
(3)
(4)

Progesterone and Aldosterone
Estrogen and Parathyroid hormone
Aldosterone and Prolactin

Parathyroid hormone and Prolactin

tal.com
162. <0Cerm SBlsS (BB Qsmamryrinc L
anmiGmer erg ?
1) eso_Camer
(2)  mevigrenCGuimed
(3)  ern9Qps L febr
4)  mevigenyCuiméd
163. eeumeuaTeuhmieT THS SO S|S0
QewuCar®h samrs Qur b uererg ?
(1) &lbs AsmEgd : apeverufer Lo LiGHsamar
@ anemrs @b BT
& 6N & En 6T
Q& meTiq (H&EGLD, @) USHS
Qewersener
SL(QULBhSGID.
(2) eapuiGurgemoey : &L anmrCmeTsamer
2 Hugd Gewig, Geul L,
uél HNID FTESMS
ETu(HSSILD.
(3) Quw@meer ! &eUMED WwHmID &g Guir
RENTRT STEE: T UTEV @G SferflFenFgHener
s_OUUBSHHDG.
(4) sriuey sCamEb : eug OO @)L &I
Qu(mepener
YT
@emanTdH@ b BT SHEPMEET.
164. waflls sarsefles o éter qefl sa@eyb fldana
Sigen Hlaneudled erger eped HimssiiLGEHng
(1)  eflavGark @aanhbdms@n Ols6wemHser
(2) gflevGar® @amanhbms@h Cerdssaer
(3)  EOwifl 2 muriGur® @ eenth (Mm@
&0 DT (H e
(4)  EOwf 2 muiGur® @evantbd (@D
Qe gsger
165. o eviGurCGumydleveldles wpsHwu LkiE eudlseEh
anmiGumer erg ?
(1) yCrrQegevig Cymer wHMID oL meivig Crmesr
(2)  mevigremer O LTFTengTTLH anriGmer
3) <y mevigGrmer OO LEFTEMSSq 6
(4) ungrepsrTL anmiGLomesr WHMILD
L Gymeomdiq bt
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167.

168.

represents the lung conditions in asthma and
emphysema, respectively ?
(1

Increased number of bronchioles; Increased
respiratory surface

(2) Increased respiratory  surface;
Inflammation of bronchioles

(3) Inflammation of bronchioles; Decreased
respiratory surface

(4) Decreased respiratory surface;
Inflammation of bronchioles

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I1

Between left atrium
and left ventricle

Column I

a. Tricuspid valve 1.

Between right
ventricle and
pulmonary artery

b.  Bicuspid valve ii.

c.  Semilunar valve iii. Between right
atrium and right
ventricle

a b c

1 i iii ii

(2) i ii iii

(8) il i ii

(4) i i iii

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I1
2500 — 3000 mL
1100 — 1200 mL

Column I
Tidal volume 1.

Inspiratory Reserve  ii.

volume

c. Expiratory Reserve iii. 500 — 550 mL
volume

d. Residual volume iv. 1000 — 1100 mL
a b c d

(1) i i iv ii

(2) i iv ii iii

(3) iii ii i iv

4) iv iii ii i

188,

167.

168.

%&ggn LHMID  6Tbs - NEmeller  HIewFuiyeSien

Blevoenw perpGur sflwres @doug erg ?
1) QyrerensGuirevseie eretmentsens
s fgs0; seurs Ly oHsfssd
(2)  seurstugly oFsMgse;
WrrenensCurdsaiie spHdl gHuBSD
(3)  WgrarensCurdgseiid spnd gHuBS®; Feurs
ULl &ennged

Feung ULl Gemse; LrrearansCGuimasartle
Fphél gHuBSD

Epsaeupmier eflwrer e mws Csib0sbHEg
Qzred I wpnib AsmEd -5 Qurmss (s :

Clgr@dl 1 Clargdl 11
a. epelilgp eumevey 1. @Lg el flwibd wHmbd
@L g Ceueigf&sler
@aenLuded
cuegl Gleuariy fedler
O HeoTuired Soefl
@aenLuldled
euegl erlflwid wHmiLb
cuegl Gleuariy fedler

(4)

b. @meilsp cureay i

C. Sieyeul L eumee] iii.

@aenLuldled
a b c
1 i iii ii
2 1 ii iii
(3) iii i ii
(4) ii i iii

Epsacupmer eflwrer e mws Csib0s®HEg
Qzred I wpnibd Qsm@d -5 Qurmss (IS :

Clasr@dl 1 Clargdl 11

a. &gy i. 2500 — 3000 mL

b. o @rpFas siiLs ii. 1100 — 1200 mL
Cs555 Gamearereme,

C. LD&eUTE QRFIEHS iii. 500 — 550 mL
Qs méTerera]

d. sm@ Qarérararey iv. 1000 — 1100 mL

a b c d

(1) iii i iv ii

2 i iv ii iii

(3) iii ii i iv

(4) iv iii ii i
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169.

170.

171.

172.

Which of the following gastric cells indirectly

help in erythropoiesis ?
(1)
(2)
(3)
(4)

Mucous cells
Goblet cells
Chief cells

Parietal cells

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column I Column I

a. Fibrinogen 1. Osmotic balance

b.  Globulin ii.  Blood clotting

c.  Albumin iii.  Defence mechanism
a b c

(1 i ii iii

(2) i iii ii

(3) iii ii i

4) i iii i

Which of the following is an occupational

respiratory disorder ?

(1) Silicosis

(2) Botulism

(3) Anthracis

(4) Emphysema

Calcium 1is important in skeletal muscle

contraction because it

(1) activates the myosin ATPase by binding to

it.
(2)

detaches the myosin head from the actin
filament.

3

binds to troponin to remove the masking of
active sites on actin for myosin.

(4) prevents the formation of bonds between
the myosin cross bridges and the actin

filament.

tal.com
169. erfgCrrCumnuflenss

170.

171.

172.

DD (LP&LDTS 2 ga|ld
srevlfé QFsdr org ?

(D
(2)
3)

(4)

W ssev QFeser
Cariiewl Qaa&er
&1 QFevser

Uyl Qaebaer

Epsaeupmer eflwrer el mws Csib6sbHEs
Qared I wpnibd Asm@d I- Qurmss e (WaIs :

Clasr@d 1 Clargdl 11
a. capulifiCarmeger 1. pevigs Foaflane

b. @&Cermyjefler . @rssbd 2 amsed

. opeLler 1. urgsmiy QEwdpenn
a b c

1 i ii iii

(2) i iii ii

(3) iii ii i

(4) ii iii i

GereumeuaTelhmieT ergl Ggmpled Qgmffurer sHeurs
Camarmy ?

1) AeCasrdlev

(2)  ur@®eded

(3)  yndrrélev

(4) e ebiQ&m

TIDL FMF FH(HBIGSOD STOF WD wp&SHul LiesrLy
audlsfng gllarafed

(1)  ewCurfler ATPase e @enanthgl @Fener
Qeudu@sgSng.

(2) ewCurfler samoen g6
@apsaiad(hhg ANEHDS.
3)  ©CymCuraflayL_em @eananTihg),
WaDESIUL g HEGD eCunslasasrer
Qewadper LuGHasamer CeuellliLBSSIHDSI.
(4) QuGunéler @GmsE @eeariiL WHMID &l e
@apsaiaie_Cu ghu@bd WamenriiLsamar

EICEEur:A]
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olumn I with those in

Column II and select the correct option given

Column II

Accumulation of uric

acid in joints

Mass of crystallised
salts within the kidney

Inflammation in

glo

meruli

Presence of glucose in

uri

ne

d
iv
iv
i

iii

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column I
a. Glycosuria 1.
b. Gout ii.
c. Renal calculi  iii.
d. Glomerular iv.
nephritis
a b c
(1) 1 ii iii
(2 i iii i
(8) iii i1 iv
4) iv i ii
174.
below :
Column I
(Function)

a. Ultrafiltration

b.  Concentration
of urine

c¢.  Transport of
urine

d. Storage of urine
a b c

1) iv i ii

2 v iv i

3) iv v ii

4 v iv i

ii.

iii.

iv.

Column II

(Part of Excretory
System,)

Henle’s loop

Ureter

Urinary bladder

Malpighian
corpuscle

Proximal
convoluted tubule

d
iii
ii
iii

iii

t.a

174.

com
3. Spsar_ecpmer sflwrar e omws Csib0s05s)

Qzred I wpnibd Asm@d -5 Qurmss er(pgIs :

(D
(2)
6))
4)

Csred 1
HenarCam@Nwm

. Qaer

Med &med&ena

. @Garmenemmi
QoL ig 60
a b c
i i iii
i iii i
iii il iv
iv i i

i.

ii.

iv.

Clargdl 11

opr Qsafler wy M
Sl Garge
SpibresSp @
SrerlIL(HLb SHeur
LIg SLOMET 2 LIL|&ET
&GermoeneneTudled
FHURD &spHS
AmiBfled @EnsCarev
2 _aTerg)

d

iv

iv

i

iii

Epsarcupmer Fflwumer Heaws Csib0sbHE
Qzr@d I wpmib Qgr@d II-o Qummss er(pgis :

(D)
(2)
3
(4)

CEUCER

(Qeuiser)

HIGHT GUlq &L Ig
AmBfler orray

Emipr sLSsLILOSD

. Emifir Casfliy

a b c
iv i il
v iv i
iv v il
iv i

ii.

e

i

i

AELGER

(s fla
B&5Clsm@dludler
NG

Caneired cueameray

w G L

A eou

. DTG LSl W6t

&Gl ge

(PSETenLD

QUENGT(GHLD MU

d
iii
ii
iii

iii
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176.

171.

178.

179.

180.

a male cockroach from a female cockroach ?
(1)
(2)
(3)

Presence of caudal styles

Forewings with darker tegmina

Presence of a boat shaped sternum on the
9P abdominal segment

Presence of anal cerci

(4)

Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive
system.

(D
(2)
3
4)

Reptilia
Aves
Amphibia
Osteichthyes

Which one
homeotherm ?

(1) Chelone

(2) Camelus
(3)
(4)

of these animals is not a

Macropus

Psittacula

Which of the following organisms are known as
chief producers in the oceans ?

(D
(2)
3
(4)

Diatoms
Cyanobacteria
Dinoflagellates
Euglenoids

Which of the following animals does not undergo
metamorphosis ?

(D
(2)
3
(4)

Tunicate
Moth
Earthworm
Starfish

Ciliates differ from all other protozoans in

(1)

having a contractile vacuole for removing
excess water

(2)
3
4)

using pseudopodia for capturing prey
using flagella for locomotion

having two types of nuclei

L34,

176.

177.

178.

179.

180.

.coml oo o
Shewr  sylumeTyFSlgeT wHmid  Cuer  srliume

L FSlsamer eTLILGTL&ET (peld searr_Hlwiemd ?

(1)

cumed lfled 2 arergmed

(2) et @pa@seaiear  CLsbllam  smeLWTS
2 _GTemgmed
3) Y-ag alipny saTLsHO UG eulge

GVGELTerD 2 eTemgmed

(4)

wolYmps QSTDLSET 2 6Tersmed

Qeflwrer OGRS 6 Safliienu HMID
SimreeulienLem 2 Ll (pgtsaiblisdr gl ?

(1)
(2)
3

(4)

DI (TG GOT

GJ GG

@ meurpellser
<pevle E&6

Qemeumeuaraupmer Qeuti  @rss  Gyrenllwmnm
cllevmais ergl ?

(1)
(2)
(3)

4)

&EQevmeir
Ga6lwaen
wr&QrmLey

S L rs@Ger

QuprsLdsafld WpsHw 2 HuHwmeryrs
smsULGL 2 wWfser erg) ?

(1)
(2)
3

(4)

LWL L LD&e6T
swGarrumsle NLmEser
L Carmo ol lemmEleyCal(Hs6r

wpsatermi (Hser

emeu(meuameuHmIET — GUETT
Blaws elleni@ erg ?

1) guelCsl Hser

(2)  @pgi U&s

(3)  warryp

(4) pLasdy e

2 poTHOD  Blapns

Ao
er&arranssted GeumuBseaner ?

(1)

LCrm CLnCemeunsasaflelmpg  FOCWL (Haar

Blens Bery CeuelCuipm &@mri@ mem@SOLD
CEIIGEIGT
@erenw

LweTU (&g
@LQuuieyssrs Seflapasamer LweTL(HSSID

(2) Qg LiLgn s Curelsmergenar

3

4) @uer® euemswrer 2 L smeney CLbHH (@D
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1. Each candidate must show on demand his/her
Admit Card to the Invigilator.

2. No candidate, without special permission of
the Superintendent or Invigilator, would
leave his/her seat.

3. The candidates should not leave the
Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases
where a candidate has not signed the
Attendance Sheet second time will be
deemed not to have handed over the
Answer Sheet and dealt with as an
unfair means case.

4. Use of Electronic/Manual Calculator is
prohibited.

5. The candidates are governed by all Rules and
Regulations of the examination with regard to
their conduct in the Examination Hall. All
cases of unfair means will be dealt with as per
Rules and Regulations of this examination.

6. No part of the Test Booklet and Answer Sheet
shall be detached under any circumstances.

7. The candidates will write the Correct Test
Booklet Code as given in the Test
Booklet/Answer Sheet in the Attendance
Sheet.
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